PN FRET TR AR
108# % 3%

EpEAARTIITEE A 2 P 2 AR R
%%g}%‘ﬂ”%& \?%'}PBB'J’;:?ZJ % = MEM A -
TEMEL FhRETER, LTI P

/\FJ!FBEE

F47 ) g tRm R o PELAGF R

(RiEike FRF A FLE Fdrrasrt B3 % & VPN % ,me
TS )



FEEFHERSTHE
= % % 5 (D)

DL AT AR

I HRHD2 kiR BT AR F

F D3 SR EAT_p

FAEIDS AT =
75955 45 (PD)

FatEPD1 S AT Rk

i 4 35 (Albumin) (EH#B > FEE W)

t72cF-URR (F4pt% - = T 2 R)
Wb (FHie - FFER)
ThE 2 FER)

& 79 v (Albumin) (Fdp# - * FER)

in#RPD3 PEE AT Pr—u%ﬁﬁ Hb (Fdpth  *F 2 m)
i EPDS AT - ¥ (Tt FFER)

s

Rl FRFFPRRF(FTIR)



PO F R &
B trdp il FHE Y pk

EE; A T H] o H ik 3 % i i F &3
105# %1% -t | 0.02% [ 0.22% | 0.10% | 0.01% | 0.01% [ 0.02% [ 0.06%
105# % 2% li-piprsk | 0.02% [ 0.18% | 0.09% | 0.01% | 0.01% [ 0.00% [ 0.05%
105# %3% -t | 0.01% [ 0.21% | 0.09% | 0.01% | 0.02% [ 0.00% [ 0.05%
105# %4% ik | 0.01% [ 0.17% | 0.09% | 0.01% | 0.03% [ 0.01% [ 0.05%
1058 ] 3+ |4 Fifrms | 0.01% | 0.19% | 0.09% | 0.01% | 0.02% | 0.01% | 0.05%
106# %1% =it | 0.01% [ 0.18% | 0.18% | 0.01% | 0.00% [ 0.01% [ 0.07%
106# %2% li-pipesk | 0.11% [ 0.19% | 0.11% | 0.01% | 0.01% [ 0.00% [ 0.08%
106# %3% [ivifes | 0.01% | 0.22% | 0.08% | 0.01% | 0.01% | 0.00% | 0.05%
1062 %4% =g | 0.02% | 0.15% | 0.06% | 0.01% | 0.01% | 0.01% | 0.04%
1064 ] 3+ |4 Fifrms | 0.04% | 0.19% | 0.11% | 0.01% | 0.01% | 0.01% | 0.06%
107 %1% [Py | 0.01% [ 0.16% | 0.06% | 0.01% [ 0.01% [ 0.01% | 0.04%
107# % 2% li-vipes | 0.02% [ 0.23% | 0.07% | 0.01% | 0.01% [ 0.00% [ 0.06%
107 %3% [+ P4 s | 0.02% | 0.20% | 0.08% | 0.01% [ 0.01% | 0.01% | 0.05%
1072 %4% =g | 0.01% | 0.23% | 0.08% | 0.01% | 0.03% | 0.00% | 0.06%
1074 ] 3+ |4 | 0.01% | 0.20% | 0.07% | 0.01% | 0.01% | 0.01% | 0.05%
1084 %1% [P | 0.02% [ 0.32% | 0.09% | 0.01% [ 0.01% [ 0.00% | 0.07%
1084# %2% i | 0.01% [ 0.33% | 0.06% | 0.01% | 0.01% [ 0.00% [ 0.07%
108# 3% [y | 0.01% [ 0.28% | 0.07% | 0.01% [ 0.01% [ 0.01% | 0.06%
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o #h ~IE E] x " 2 L
W rEEr g2 | 2% | dw | dn | as | k| 2% [T sge aaaw 0w |aw |38 | 0w | 2%
Albumin- # FIES | o0 10%-100.00%] O 0 0 0 0 0 0
0436%| 97.41%| 95.19%| 97.31%| 98.36%| 96.33%|  96.37%| g | 5O :
Albumin(BCG) 7 174 81 121 08 130 17 621 ]
. £ R Albumin(BCG) = ¥ 3.0 3.89 3.9 3.01 3.88 3.03 3.90
Albumin(BCG)=3.5F A 80.76%| 89.38%| 89.37%| 90.00%| 80.66%| 89.65%| 89.80%| = % > 84.45% 0 0 0 0 0 0 0
Albumin(BCP) 3Jk 7 5 8 4 1 25 )
Albumin- 3 iz (BCP) 3.64 3.71 3.38 3.61 3.26 3.54
Albumin(BCP)=3.0F A 92.28%| 94.98%| 88.21%| 93.44% 79.61%|  90.97%| & % > 84.44% 0 0 0 0 < 0
i s s
) (I’g‘z?;%*;;* B\UER% URR-% # 04.21%|  97.120%|  95.00%| 97.29%|  98.23%| 95.91%|  96.23%| mam | 88 74%-100.00%f O © © © © © ©
AT B '|URR-Z 35 75.88 7553 74.81 75.45 74.90 74.96 75.35
Kt/V) URRZ65%F A 1 97.29%| 96.86%| 96.88%| 97.44%| 97.000| 97.06%| 97.16%| & % > 89.00% 0 0 0 0 0 0 0
s o in HES
s | OZEF‘;‘%:'L%%E&B_H; U tal 04.68%| O776%| 96.56%| 97.44%|  98.76%| 96.95%|  96.92% sy | O% 914-100-00% O ) OO OO °
LR ' IHb-= 3215 10.60 10.55 10.50 1051 1057 10.50 10.55
Het) Hb> 8.5F A » 04.93%|  94.93%| 94.300%| 9534%| 955200 93.11%| 94.95%| & % > 88.67% 0 0 0 0 0 0 0
FHO o BHER<LEZ 7 & 0.55 0.00 0.65 1.02 0.60 2.01 0.68] f =1.08 0 0 0 0 0 > 0
SHRERZ1EL % 0.81 0.79 0.81 0.4 0.62 0.97 0.74] % <1.09 0 0 0 o o 0 o
FRFE BHRR<lE2 7 & 0.65 0.95 0.84 0.57 0.65 1.65 0.76| ¢ @ =1.23 0 0 0 0 0 > 0
i (:’“/jf_" ) SHER2LEL = & 0.87 0.78 0.91 0.80 119 1.28 001 % <1.19 0 0 0 0 0 > 0
5 : — ,
) )ﬂ poE e |SHTRR SLEL 2 ¥ 0.83 0.80 0.78 1.31 1.15 0.36 0.01| <1.51 0 0 0 0 0 0 0
BrEFz1EL >~ F 0.91 0.87 1.13 0.94 0.97 1.44 098] f # =1.39 0 0 0 0 0 > 0
AR D BHER<1EL 7= & 0.76 1.10 0.73 1.14 0.78 0.90 0.86| § =1.14 0 0 0 > 0 0 0
SHER2LEL = & 0.86 0.88 0.78 0.83 0.73 0.73 0.82| % <1.13 0 0 0 0 0 0 0
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T8, g 1 o
P g4 | 2% | % [ 4% | a8 | k% | 2% | R sge g e |vn s 98| A% | 24
Albumin- £ # % FUES | g9 105100, 00%] © 0 0 0 0 0 0
07.030%| 99750 97.23%| 98.78%|  98.77%|  99.12%|  98.30%| Eiilg
Albumin(BCG) 3ic 24 19 21 18 16 3 101
. Albumin(BCG) = £ i 3.77 3.77 3.68 3.72 3.73 3.79 3.74
1 S Albumin(BCG)=3.5% 4 80.55%| 81.54%| 76.06%| 80.78%| 81.64%| 90.27%| 80.19%| 1 =79.08% 0 0 < 0 0 0 0
Albumin(BCP) 7k 4 1 8 1 14
Albumin-=* 3512 (BCP) 3.16 3.28 3.18 3.08 3.15
Albumin(BCP)=3.0F 4 +* 79.53%| 80.00%| 68.29%|  72.73% 76.01%| L * =179.96% < 0 < < <
3{\: ==z I
f stk & -Hb Hb-£ 4 07.92%| 99.60%| 97.66%| 98.93%| 98.21%| 98.25%|  98.32% é% 89.00%-100.00%|  © © © © © ©
3 |(102 A0, B R| L L,
Het) & 10,53 10.39 10.12 10.21 10.36 10.29 10.35
Hb> 8.5F A 92.90%| 89.84%| 88.04%| 90.48%| 93.22%| 91.07%| 91.22%| 1 % > 87.34% 0 0 0 0 0 0 0
FE o [BHRER<IEZ 72 F 0.16 0.00 1.16 0.00 0.78 222 051 § =0.34 0 0 > 0 > > >
SHERZ1EL 72 3 0.51 0.34 0.47 0.40 0.32 0.56 0.44| § % <0.63 0 0 0 0 0 0 0
e | PEFR[EERER<IELr 3 156 0.46 0.68 0.38 0.00 0.00 0.75| § =+ =0.69 > 0 0 0 0 0 >
s | (s /;jﬂ- . SRBERlEL R 0.78 0.56 0.46 0.46 0.81 0.00 0.63] § <0.93 0 0 0 0 0 0 0
N D 0.00 0.00 0.51 0.00 0.00 031 § =0.76 o 0 0 o 0 0
SRBER1EL R 0.00 1.30 0.79 0.00 0.76 0.80| § <0.98 0 > 0 0 0 0
BE L |SHBER<lEL»= F 0.00 0.00 0.00| f # <1.85 0 0 o)
EHBRZLEL M & 0.00 0.00 0.00 0.00 0.00| § <0. 66 0 0 0 0 0
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F1RIDL s R B 45§ %k - 5 39 (Albumin)

FAE HHE =uin JEiE& & = [=lia i 2F |
1054F B FT 174 80 125 102 119 19 619
Albumin-f& 25 H- 2% 97.99%|  98.97%|  98.93%|  98.76%|  98.87%]  97.80%|  98.91%
Albumin(BCG)ZZ ¥ 169 75 115 98 118 18 593
Albumin(BCG)F-#4{& 3.8877 3.8445 3.8911 3.8889 3.8433 3.9287 3.8744
Albumin(BCG) =3.5 Fi 47tk 94.18%|  92.62%|  93.99%]  94.02%|  93.36%|  93.28%|  93.78%
Albumin(BCP) % %1 9 6 12 10 1 2 40
Albumin-}5{g (BCP) 3.5065 3.4446 3.3451 3.7644 3.2133 3.2443 3.4373
Albumin(BCP) =3.0 7§ 53EE 93.99%|  90.54%|  92.15%]  96.47%|  90.48%|  86.11%|  92.71%

1064F B F 178 82 130 102 124 19 635
Albumin-f& 25 H- 2% 98.00%|  98.46%|  98.67%|  98.31%|  98.80%|  97.43%|  98.67%
Albumin(BCG)ZZ ¥ 172 77 120 100 123 18 610
Albumin(BCG)F-#4{& 3.8876 3.8527 3.8963 3.9012 3.8664 3.8995 3.8823
Albumin(BCG) =3.5 Fi 47tk 93.73%|  92.96%|  94.07%|  94.26%|  94.40%|  93.78%|  93.95%
Albumin(BCP) % %1 11 6 10 6 4 2 39
Albumin-}5{g (BCP) 3.5972 3.3056 3.4043 3.7199 3.2484 3.2314 3.4659
Albumin(BCP) = 3.0 7153 EE 96.68%|  91.36%|  93.47%|  96.35%|  89.86%|  86.43%|  94.25%

1074651 A 165 78 128 101 127 19 618
Albumin-f& 25 7% 92.02%|  93.49%|  98.029%]  96.92%|  98.16%]  97.33%|  95.52%
Albumin(BCG)Z % 158 73 117 96 126 18 588
Albumin(BCG)F-#4){E 3.9018 3.8449 3.9132 3.8989 3.8662 3.8911 3.8872
Albumin(BCG) =3.5~ Fi 47tk 89.55%|  87.00%|  89.73%|  89.76%|  89.19%|  88.68%|  89.13%
Albumin(BCP) % %1 8 5 11 6 1 1 32
Albumin-}5{g (BCP) 3.6741 3.3718 3.3914 3.6873 3.1509 3.2313 3.5032
Albumin(BCP) = 3.0 7153 EE 93.03%|  82.37%| 87.04%]  95.06%|  73.58%|  80.21%|  88.91%

10748522 [hns 173 79 131 101 124 18 626
Albumin-f& 25 7% 96.67%|  96.28%|  96.90%]  97.26%|  97.09%|  96.77%|  96.94%
Albumin(BCG)Z % 167 74 121 97 123 17 599
Albumin(BCG) F-#4){E 3.8956 3.8516 3.8833 3.8969 3.8516 3.8715 3.8778
Albumin(BCG) =3.5 F{ 47tk 89.3200] 87.24%| 88.39%|  90.75%| 88.31%|  89.14%|  88.88%
Albumin(BCP)Z % 6 5 10 5 1 1 28
Albumin-£5{f (BCP) 3.6025 3.4029 3.4243 3.5300 3.2226 3.2328 3.4731
Albumin(BCP) =3.0 7153 EE 91.18%| 84.58%| 88.48%| 91.83%|  79.25%|  85.42%|  88.84%

10745553 [pni 172 79 130 99 127 18 625
Albumin-fg &% 94.01%|  94.21%|  97.92%|  96.34%|  98.26%|  97.18%|  96.10%
Albumin(BCG) 5z % 166 75 122 95 126 17 601
Albumin(BCG)-F5{E 3.9083 3.8893 3.8978 3.9100 3.8765 3.9455 3.8985
Albumin(BCG) =3.5 F{ 57tk 89.5200] 88.98%| 88.10%]  90.98%| 89.54%|  90.52%|  89.45%
Albumin(BCP)Z % 6 4 8 6 1 1 26
Albumin-£5{f (BCP) 3.6694 3.7342 3.4232 3.5933 3.2392 3.3133 3.5564
Albumin(BCP) =3.0 7§53 EE 93.10%|  93.39%|  89.06%| 92.53%| 82.35%| 84.69%|  91.12%

10745547 [ 178 83 129 102 129 18 639
Albumin-fg &% 93.67%| 86.20%| 97.44%| 97.16%| 98.42%|  96.87%|  94.85%
Albumin(BCG) 5z % 172 80 120 98 128 17 615
Albumin(BCG)-F+5{H 3.9101 3.9140 3.9583 3.9320 3.8806 3.9359 3.9176
Albumin(BCG) >3.5 Fi 47tk 90.14%|  89.98%|  90.84%|  91.28%|  89.79%|  90.70%|  90.38%
Albumin(BCP)Z % 6 3 9 5 1 1 25
Albumin-5{# (BCP) 3.6404 3.7081 3.3954 3.6166 3.6018 3.3071 3.5196
Albumin(BCP) > 3.0 71 43EE 91.70%|  94.76%|  89.40%|  93.93%|  96.36%|  80.61%|  90.94%

1074E FERTE 185 85 133 102 134 19 658
Albumin-fg &% 97.83%| 98.17%|  98.40%| 97.97%| 98.50%]  96.83%|  98.37%
Albumin(BCG) 58 179 82 126 98 133 18 636
Albumin(BCG)-F-5{E 3.8852 3.8622 3.9017 3.8945 3.8519 3.8822 3.8796
Albumin(BCG) >3.5 Fi 47tk 93.92%|  93.27%| 93.26%|  94.15%|  93.85%|  93.44%|  93.77%
Albumin(BCP)Z % 8 5 12 7 2 1 35
Albumin-£5{# (BCP) 3.6256 3.5139 3.3800 3.5868 3.4965 3.2286 3.4904
Albumin(BCP) = 3.0 F143EE 96.03%|  92.31%|  93.64%|  96.52%| 97.77%| 87.18%|  94.52%

1084E55 1% [Iprs 179 87 132 100 130 18 646
Albumin-f & L% 95.85%|  95.78%|  96.55%|  96.82%|  98.42%|  96.83%|  96.73%




Albumin(BCG) 57 171 84 123 96 130 17 621
Albumin(BCG)F-H{H 3.9150 3.8940 3.9641 3.9271 3.8821 3.9531 3.9165
Albumin(BCG) = 3.5 {47tk 90.46%|  89.59%|  90.85%|  91.70%|  90.13%|  90.40% 90.53%
Albumin(BCP) % 8 3 9 5 0 1 26
Albumin->F-#5{# (BCP) 3.6641 3.6824 3.3750 3.5944 0.0000 3.2274 3.5126
Albumin(BCP) =3.0.> i 57LL 92.80%| 9451%| 87.38%|  92.80% 0.00%| 81.13% 90.14%

108522 e 180 88 131 101 130 18 648
Albumin-fi & HE% 96.57%|  98.27%|  94.55%|  98.16%|  98.49%|  96.36% 97.17%
Albumin(BCG) 57 174 84 122 97 130 17 624
Albumin(BCG)F-H{# 3.8950 3.8821 3.9294 3.9012 3.8877 3.9297 3.8992
Albumin(BCG) = 3.5 {47tk 89.88%|  89.17%|  90.23%|  90.72%|  90.35%|  90.45% 90.07%
Albumin(BCP)ZZ % 7 5 9 5 0 1 27
Albumin->F-#5{# (BCP) 3.6389 3.7751 3.3599 3.5926 0.0000 3.2942 3.5205
Albumin(BCP) =3.0.7 i 57LL 92.52%|  94.80%|  87.52%]  93.59% 0.00%]  82.69% 90.53%

10853 [ 180 86 129 102 130 18 645
Albumin-fi & HE% 94.36%|  97.41%| 95.19%|  97.31%| 98.36%|  96.33% 96.37%
Albumin(BCG) % %1 174 81 121 98 130 17 621
Albumin(BCG)F{g 3.8952 3.8851 3.9191 3.9091 3.8839 3.9252 3.8987
Albumin(BCG) = 3.5 {47tk 89.76%|  89.38%|  89.37%|  90.90%|  89.66%|  89.65%|  89.80%
Albumin(BCP)Zz & 7 5 8 4 0 1 25
Albumin->F:5{¢ (BCP) 3.6379 3.7075 3.3830 3.6095 0.0000 3.2573 3.5388
Albumin(BCP) =3.0.7 F57EL 92.28%|  94.98%|  88.21%|  93.44% 0.00%]  79.61% 90.97%
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Fp1RID] R E 47 _F & a9 39 (Albumin)

HiE HHE EEdn | EEER | WERE | EEP2E 2Z
1054 bR 19 75 157 368 619
Albumin-fga & LR 98.79% 98.41% 97.49% 98.88%| 98.91%
Albumin(BCG)Zz 8] 18 67 142 366 593
Albumin(BCG)F-+9{H 3.8675 3.8847 3.8437 3.8815 3.8744
Albumin(BCG)=3.57 47tk 93.62% 92.88% 91.46% 94.45% 93.78%
Albumin(BCP) 5 % 2 11 18 9 40
Albumin-3Z35{E (BCP) 3.3750 3.4406 3.4343 3.5415 3.4373
Albumin(BCP)=3.07 57tk 94.06% 92.70% 92.12% 94.64%| 92.71%
1064 bR 19 75 154 387 635
Albumin-fg & LR 98.42% 98.22% 97.471% 98.58%| 98.67%
Albumin(BCG) 578 18 66 141 385 610
Albumin(BCG)F+9{H 3.8758 3.8771 3.8499 3.8963 3.8823
Albumin(BCG)=3.57 47tk 93.82% 93.39% 91.23% 94.69%] 93.95%
Albumin(BCP) % % 1 11 15 12 39
Albumin-F-#4{g (BCP) 3.4456 3.4953 3.4142 3.5857 3.4659
Albumin(BCP)= 3.0 57tk 95.76% 94.85% 92.41% 96.38%| 94.25%
1074E 1% |efEt 19 72 146 381 618
Albumin-fga & LR 98.35% 94.78% 91.91% 96.61%| 95.52%
Albumin(BCG)Z % 18 62 131 377 588
Albumin(BCG)*F-+9{H 3.8912 3.8762 3.8449 3.9048 3.8872
Albumin(BCG)=3.57 47tk 88.71% 87.74% 86.16% 90.76%] 89.13%
Albumin(BCP) 5 % 1 11 15 5 32
Albumin-F-#4{g (BCP) 3.3485 3.5538 3.4400 3.6432 3.5032
Albumin(BCP)= 3.0 57tk 86.35% 90.43% 86.96% 91.53%| 88.91%
1075622 |EArEL 19 74 150 383 626
Albumin-fa & EEE 98.45% 96.36% 95.66% 97.25%| 96.94%
Albumin(BCG)Z % 18 64 136 381 599
Albumin(BCG):5{H 3.8846 3.8753 3.8383 3.8909 3.8778
Albumin(BCG)=3.57 47k 88.21% 88.43% 86.23% 90.10%] 88.88%
Albumin(BCP)Z # 1 10 14 3 28
Albumin-F-#4{E (BCP) 3.4312 3.4878 3.4503 3.5751 3.4731
Albumin(BCP)=3.0 77tk 88.97% 88.77% 89.33% 84.17%| 88.84%
1077532 | 19 73 146 387 625
Albumin-fa & EEE 98.29% 95.43% 93.53% 96.84%| 96.10%
Albumin(BCG)Z % 18 64 133 386 601
Albumin(BCG):9{H 3.9140 3.8943 3.8629 3.9091 3.8985
Albumin(BCG)=3.57 F47kk 90.60% 88.87% 86.67% 90.41%] 89.45%
Albumin(BCP)Z # 1 9 13 3 26
Albumin-F-#4{E (BCP) 3.4311 3.6186 3.4907 3.8733 3.5564
Albumin(BCP)=3.0 F 77tk 90.56% 92.17% 89.66% 100.00%] 91.12%
1077542 | 19 72 154 394 639
Albumin-f&# fL2 98.74% 91.29% 90.08% 97.49%| 94.85%
Albumin(BCG)Z %5 18 63 140 394 615
Albumin(BCG):5{H 3.9311 3.9224 3.8948 3.9203 3.9176
Albumin(BCG)=3.57 H 3Lk 90.53% 90.57% 87.71% 91.12%] 90.38%
Albumin(BCP) 52 8 1 9 14 1 25
Albumin-F-#4{E (BCP) 3.4252 3.5479 3.5050 4.3000 3.5196
Albumin(BCP)=3.0 H 47tk 90.56% 91.37% 90.53% 100.00%] 90.94%
1074 S 19 76 157 406 658
Albumin-f&# fL2 98.28% 98.06% 97.25% 98.27%| 98.37%
Albumin(BCG)Z %4 18 68 144 406 636
Albumin(BCG)t5{H 3.8906 3.8771 3.8421 3.8913 3.8796




Albumin(BCG) = 3.5 [ 57 EL 94.30% 92.64% 91.30% 94.46%| 93.77%
Albumin(BCP) 5 B 1 11 15 8 35
Albumin-"F-+5{& (BCP) 3.3730 3.5282 3.4511 3.6817] 3.4904
Albumin(BCP)=3.0. £ 57 EL 96.05% 94.87% 93.53% 95.66%| 94.52%
108FE 512 (B 19 71 158 398 646
Albumin-f & FE 98.21% 95.57% 94.93% 97.55%|  96.73%
Albumin(BCG)5: % 18 62 145 396 621
Albumin(BCG) FH[H 3.9449 3.9137 3.8732 3.9275]  3.9165
Albumin(BCG) = 3.5 [ 57 EL 91.99% 90.34% 87.63% 91.35%| 90.53%
Albumin(BCP) 5 B 1 9 13 3 26
Albumin-"F-+5{& (BCP) 3.3945 3.5604 3.4618 3.7308] 35126
Albumin(BCP)=3.0. £ 57 EL 88.77% 91.48% 88.29% 96.92%|  90.14%
1085 22 |Bafik 19 72 158 399 648
Albumin-f & FE 98.31% 95.73% 96.36% 97.79%| 97.17%
Albumin(BCG)5: 8 18 62 145 399 624
Albumin(BCG) P H[H 3.9103 3.9036 3.8685 3.0063]  3.8992
Albumin(BCG) = 3.5 [ 57 EL 90.84% 90.12% 87.41% 90.86%| 90.07%
Albumin(BCP) 5 By 1 10 13 3 27
Albumin-"F-+5{& (BCP) 3.4517 3.5700 3.4685 3.9000] 3.5205
Albumin(BCP)=3.0. £ 57 EL 90.91% 91.83% 88.77% 100.00%|  90.53%
10855637 |heprix 19 72 157 397 645
Albumin-f & FE 98.56% 95.09% 95.97% 96.52%| 96.37%
Albumin(BCG)5: 8 19 62 145 395 621
Albumin(BCG) P H[H 3.9292 3.8961 3.8569 3.0089]  3.8987
Albumin(BCG) = 3.5 [ 57 EL 91.11% 89.74% 86.92% 90.62%| 89.80%
Albumin(BCP) 52 B 0 11 12 2 25
Albumin--F¥5{& (BCP) 0.0000 3.5649 3.4802 3.7312] 3.5388
Albumin(BCP)= 3.0 [ 57 EL 0.00% 92.19% 89.07% 93.88%| 90.97%
=
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FAR HE =alv in HE B [ =13 A 2E
1054 EGR 174 80 125 102 119 19 619
URR-f& &[S 98.15%] 98.70%| 98.94%| 98.71%| 98.81%] 97.74%| 98.90%
URR-H5{H 75.6444] 75.6798] 74.6918] 74.9613] 74.5260] 74.1420] 75.0974
URR=65%_" 17705 | 98.87%)| 98.72%| 98.78%| 99.02%| 99.05%| 98.34%| 98.91%
1064 EGR 178 82 130 102 124 19 635
URR-f& & FLo< 97.96%| 98.30%| 98.62%] 98.28%| 98.75%| 97.22%| 98.62%
URR-JH(H 75.4800] 75.2321| 74.5874| 74.7841] 74.5492| 74.3437] 74.9528
URR=65%_" 1 77FL | 98.88%| 98.65%| 98.86%| 98.96%| 98.96%| 98.84%| 98.90%
107 B12 |G 165 78 128 101 127 19 618
URR-f& & [ 91.91%| 93.25%| 97.00%| 96.88%| 97.96%| 97.16%| 95.38%
URR-JH(H 75.0086] 74.8730] 74.3147| 74.4755] 74.0748] 73.9833] 74.5874
URR=65%_" /7L | 95.95%| 96.31%| 96.63%| 96.84%| 96.63%| 95.82%| 96.42%
10775622 |k 173 79 131 101 124 18 626
URR-f& & FLos 96.57%] 96.09%| 96.84%| 97.15%| 96.83%| 96.83%| 96.81%
URR-JH(H 754791 75.1215] 74.8050] 74.9373] 74.5015] 74.3554] 75.0011
URR=65%_" 1 77FL | 96.44%| 96.58%| 97.25%| 97.02%| 96.93%| 96.37%| 96.81%
1074832 |G 172 79 130 99 127 18 625
URR-f& & FLo< 93.97%| 93.91%| 97.83%| 96.33%| 98.0106] 96.90%| 95.97%
URR-H5{H 75.8304] 75.6261] 75.1957] 75.1897] 74.7090] 74.7922] 75.3365
URR=65%_" /0L | 96.92%| 96.79%| 97.26%| 97.19%| 97.08%| 96.62%| 97.04%
1074 542 |G 178 83 129 102 129 18 639
URR-f& & FLo< 93.550%] 86.01%| 97.37%| 97.14%| 98.24%| 96.65%| 94.73%
URR-H5{H 75.6280] 75.2690] 74.6056] 74.8378] 74.5353] 74.5842] 75.0135
URR=65%_" 1 77FL | 96.69%| 96.49%| 97.01%| 96.79%| 96.83%| 96.53%| 96.77%
1074 Bl 185 85 133 102 134 19 658
URR-f& & FL2< 97.73%| 97.97%| 98.36%| 97.95%| 98.39%| 96.73%| 98.29%
URR-H(H 75.2763| 75.1084] 74.5604] 74.7495] 74.3754] 74.4141] 74.8410
URR=65%_" 1 77FL | 98.73%| 98.63%| 98.96%| 98.69%| 99.02%| 98.79%| 98.84%
108 512 |G 179 87 132 100 130 18 646
URR-f& & FL2< 95.74%| 95.62%| 96.47%| 96.77%| 98.36%| 96.72%| 96.65%
URR-JH(H 75.5600] 75.0516] 74.6664] 74.6101] 74.4693] 74.3970] 74.9275
URR=65%_" 1 77FL | 96.58%| 96.34%| 96.80%| 96.93%| 96.81%| 96.10%| 96.68%
10875278 |Befhi 180 88 131 101 130 18 648
URR-f& & FL2s 96.49%| 98.03%| 94.44%| 98.14%| 98.39%| 96.00%| 97.06%
URR-JH(H 75.7301| 75.2336] 74.8040] 74.9941] 74.7419] 74.6028] 75.1504
URR=65%_" 1 77FL | 96.87%| 96.38%| 96.80%| 97.25%| 97.11%| 96.66%| 96.89%
1087537 |Befhi 180 86 129 102 130 18 645
URR-f& & FL2< 94.21%| 97.12%| 95.09%| 97.29%| 98.23%| 95.91%| 96.23%
URR-FH5{H 75.8837| 755317] 74.8093] 75.4474] 74.9024] 74.9629] 75.3511
URR=65%_" /0L | 97.29%| 96.86%| 96.88%| 97.44%| 97.20%| 97.06%| 97.16%
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FAR HE BB &I BT P S HE2F 2E
1054 BT 19 75 157 368 619
URR-f& 7 EE% 98.66% 98.32% 97.63% 98.84%|  98.90%
URR-EH(H 74.4308 75.0531 75.0821 75.2584]  75.0974
URR=65%_ 5 457tt 98.28% 98.63% 98.61% 99.08%|  98.91%
1064 TSI 19 75 154 387 635
URR-f& 7 EE% 98.33% 98.11% 97.39% 98.53%|  98.62%
URR-EH(H 74.2074 74.8047 75.1097 75.1088]  74.9528
URR=65%_ 5 457tt 98.45% 98.56% 98.67% 99.05%|  98.90%
1074513 (e 19 72 146 381 618
URR-f & EER 98.01% 94.60% 91.77% 96.52%|  95.38%
URR-EH(H 73.8992 74.5628 74.7934 74.6625]  74.5874
URR=65%_" 4L 96.21% 95.90% 96.45% 96.68%|  96.42%
10745562 [5epry 19 74 150 383 626
URR-f &L 98.02% 96.21% 95.57% 97.17%|  96.81%
URR-EH{H 74.4559 74.7985 75.1878 75.1330]  75.0011
URR=65%_" 4L 96.49% 96.22% 96.84% 97.13%|  96.81%
10745533 |Bepi 19 73 146 387 625
URR-f & L& 98.13% 95.34% 93.36% 96.71%|  95.97%
URR-EH{H 74.5148 75.3576 75.5377 75.4138]  75.3365
URR=65%_" &5 4L 96.82% 96.74% 97.02% 97.22%|  97.04%
10745543 (e 19 72 154 394 639
URR-f & B 98.52% 91.16% 89.99% 97.37%|  94.73%
URR-EH{H 74.4256 74.9435 75.0767 75.1371]  75.0135
URR=65%_" &5 4L 97.17% 96.38% 96.62% 96.91%|  96.77%
1074F SHEIE 19 76 157 406 658
URR-f & LR 98.12% 97.83% 97.17% 98.22%|  98.29%
URR-EH{H 74.2690 74.6240 75.0172 74.9783]  74.8410
URR=65%_" 5 4Lk 98.70% 98.46% 98.67% 98.89%|  98.84%
1084512 |Bepm 19 71 158 398 646
URR-f & LR 98.07% 95.45% 94.84% 97.48%|  96.65%
URR-EH{H 74.3056 74.9994 74.9399 75.0118]  74.9275
URR=65%_" &5 47tk 96.49% 96.50% 96.42% 96.90%|  96.68%
1084E5E2 [[5epry 19 72 158 399 648
URR-f&LER 98.08% 95.60% 96.26% 97.70%|  97.06%
URR-EH{H 74.2248 75.3517 74.9815 75.3066]  75.1504
URR=65%_" &5 47tk 96.97% 96.74% 96.29% 97.16%|  96.89%
1084E5E3% [[5eprE 19 72 157 397 645
URR-f & LR 98.38% 94.87% 95.86% 96.41%|  96.23%
URR-EH{H 74.5790 75.4648 75.3579 75.4460]  75.3511
URR=65%_ 5 47tk 96.96% 96.96% 96.72% 97.45%|  97.16%
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B D3 w54t th & -Hb

FAR HH =alv in HE B [ =13 A 2E

1054 EGR 174 80 125 102 119 19 619
Hb-Fa & L 98.47%| 99.15%| 99.12%] 98.96%| 99.10%| 98.29%| 99.19%
Hb-FH5 {5 105103 10.4163] 10.4892] 10.4821] 10.6001] 10.4379] 10.5050
Hb>8.50/dL 175 FL | 98.21%| 98.40%| 98.39%| 98.49%| 98.99%| 98.26%| 98.52%

1064 EGR 178 82 130 102 124 19 635
Hb-Fa & L 98.29%| 98.66%| 98.75%| 98.44%| 99.02%] 97.97%| 98.91%
Hb—FH4{E 10.5046] 10.4724] 105611 10.4444] 10.5944] 10.3619] 10.5150
Hb>8.50/dL 175 FL | 98.31%| 98.21%| 98.60%| 98.67%] 99.00%| 96.82%| 98.55%

107712 |k 165 77 127 101 127 19 616
Hb-Fa & L 92.44%| 93.83%| 98.45%| 97.00%| 98.46%| 97.06%| 95.89%
Hb-FH5 {5 10.4899] 10.4521| 10.4301] 10.3525] 10.5258] 10.3625] 10.4540
Hb>8.50/dL i 5L | 94.11%| 94.29%| 94.15%| 94.61%| 95.38%| 91.24%| 94.41%

10775622 |k 173 79 131 101 124 18 626
Hb-F & L 97.12%| 96.96%| 98.18%| 97.37%| 97.63%| 97.15%| 97.53%
Hb-FH5 {5 10.5448] 10.4849] 10.5226] 10.4930] 10.6377] 10.4522] 10.5385
Hb>8.50/dL i1 5L | 94.52%| 94.29%| 94.53%| 95.34%| 95.82%| 92.53%| 94.82%

1074832 |G 172 78 130 99 127 18 624
Hb-F & Lo 94.30%] 94.40%| 98.23%| 96.54%| 98.65%| 97.61%| 96.40%
Hb-FH5 {5 10.5891] 10.5488] 10.5612] 10.4778] 10.6464] 10.5040] 10.5687
Hb>8.50/dL i 75 FEL |  94.68%| 94.76%| 94.90%| 94.92%| 95.74%| 93.60%| 94.95%

1074 542 |G 178 83 129 102 129 18 639
Hb-F & L 93.60%] 86.06%| 97.71%| 97.58%| 98.63%| 97.19%| 94.97%
Hb-FH5 {5 10.5995] 10.5078] 10.5555] 10.4899] 10.5769] 10.4212] 10.5506
Hb>8.50/dL i 5L | 94.95%| 94.69%| 95.01%| 95.05%] 95.58%| 93.14%| 95.02%

1074 Bl 184 85 133 101 134 19 656
Hb-F & s 97.67%| 98.34%| 98.58%| 96.89%| 98.72%| 96.85%| 98.28%
Hb—FH5 {H 10.4970] 10.4526] 10.4709] 10.4135] 10.5500] 10.3988|] 10.4796
Hb>8.50/dL i1 5L | 98.18%| 98.48%| 98.75%| 98.57%| 98.69%| 97.24%| 98.50%

108 512 |G 179 86 132 100 130 18 645
Hb-F 5 s 96.24%| 95.93%| 96.85%| 97.02%| 98.74%| 97.16%| 97.04%
Hb—FH5 {H 10.5609] 10.5215| 10.5100] 10.4414] 10.5553] 10.4213] 10.5214
Hb>8.50/dL i 5L | 94.69%| 94.68%| 94.65%| 94.88%| 95.38%| 92.31%| 94.79%

108 22 |y 179 88 131 100 130 18 646
Hb-F & s 96.93%| 98.52%| 96.61%| 98.37%| 98.72%| 97.26%| 97.81%
Hb—FH5 {H 10.5315] 10.4602] 10.4198] 10.4542] 10.5651] 10.3589] 10.4896
Hb>8.50/dL i1 5L | 94.44%| 94.64%| 94.08%| 94.83%| 95.24%| 91.56%| 94.55%

1087537 |Befhi 180 86 128 102 130 18 644
Hb-F & s 94.68%| 97.76%| 96.56%| 97.44%| 98.76%| 96.95%| 96.92%
Hb-FH{E 10.6017] 10.5516] 10.4976] 10.5091] 10.5743] 10.5034] 10.5516
Hb>8.50/dL i 75 | 94.93%| 94.93%| 94.30%| 95.34%| 95.52%| 93.11%| 94.95%
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HARS HE BB &I BT P S HE2F £E
1054 BepTEL 19 75 157 368 619
Hb-fg #&r bER 99.20% 98.67% 98.06% 99.07%|  99.19%
Hb-3E51E 10.5485 10.5815 10.4343 10.4883]  10.5050
Hb>8.5g/dL > 577 EE 98.72% 98.63% 98.07% 08.32%|  98.52%
1064 BepTEL 19 75 154 387 635
Hb-fg a&r bER 98.58% 98.48% 97.81% 98.77%|  98.91%
Hb-3E51E 10.5707 10.5866 10.5037 10.4773]  10.5150
Hb>8.5g/dL > 577 EE 98.75% 98.70% 97.83% 98.45%|  98.55%
1074517 | 19 72 146 379 616
Hb-fg & bER 98.80% 94.69% 92.59% 96.91%|  95.89%
Hb-3E51E 10.5233 10.5161 10.4388 10.4183]  10.4540
Hb>8.5g/dL > 7 47EE 95.66% 94.95% 93.57% 94.20%|  94.41%
107527 | 19 74 150 383 626
Hb-fg & FER 98.92% 97.19% 96.53% 97.62%|  97.53%
Hb-F 5 {5 10.6100 10.5800 10.4863 10.5248]  10.5385
Hb>8.5g/dL > 777 EE 95.54% 95.41% 93.73% 94.80%|  94.82%
107E53% |t 19 73 146 386 624
Hb-fg & FER 98.61% 95.62% 93.81% 97.12%|  96.40%
Hb-F 5 {5 10.6689 10.6290 10.5481 10.5300]  10.5687
Hb>8.5g/dL " 7 47EE 96.06% 95.27% 94.59% 94.72%|  94.95%
107547 | 19 72 154 394 639
Hb-fg & FER 98.95% 90.68% 90.01% 97.79%|  94.97%
Hb-F 5 {5 10.6830 10.6230 10.5184 10.5062]  10.5506
Hb>8.5g/dL > 7577 EE 96.24% 95.40% 94.25% 94.88%|  95.02%
1074E B 19 75 156 406 656
Hb-fg & FER 98.67% 97.25% 97.11% 98.41%|  98.28%
Hb-3E5{E 10.5715 10.5381 10.4348 10.4539]  10.4796
Hb>8.5g/dL” & 47 EL 98.75% 98.56% 97.75% 98.41%|  98.50%
108FEF1%F |BepreE 19 71 157 398 645
Hb-fg & FER 98.60% 95.70% 95.30% 97.82%|  97.04%
Hb-3E5{E 10.6774 10.6085 10.4870 10.4666] 10.5214
Hb>8.5g/dL" & 47 EL 95.97% 95.50% 94.03% 94.53%|  94.79%
10852 |bepreE 19 71 158 398 646
Hb-fg & FER 98.75% 97.14% 96.98% 98.08%|  97.81%
Hb-F5 {8 10.6240 10.6129 10.4352 10.4315]  10.4896
Hb>8.5g/dL & 4y EE 95.79% 95.48% 94.02% 94.11%|  94.55%
1084E53% |bepreE 19 72 156 397 644
Hb-fg#& FER 98.77% 96.28% 96.66% 96.75%|  96.92%
Hb-3EH5{E 10.6797 10.6874 10.5165 10.4824] 10.5516
Hb>8.5g/dL &4y EE 96.38% 96.03% 94.44% 94.41%|  94.95%
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HARADS s iEdT SRR <lEL - &

HARE HE &2t | & | & | BHE | &F | K& | £F
1054F BENTIERS<14E > SR T A8 344 167 228 196 199 43| 1,148
EATIRR <145 > 455% A B8 | 34,638] 17,575| 22,062| 19,389| 19,194| 3,477| 115,128
ETHFRH<1E 2 ZE T & 0.9931] 0.9502] 1.0334] 1.0108] 1.0367] 1.2366] 0.9971
1064E TR <1EE R T A8 378 192 254 199 198 26| 1,209
BRI <145 > 485% A B | 36,018] 18,849| 22,275| 18,848| 20,035 3,056| 117,769
BTG E<1E 2 JET R 1.0494] 1.0186| 1.1402| 1.0558] 0.9882] 0.8507] 1.0265
1071 [EMHFREI<1IE 3R T AEL 99 40 50 56 47 6 294
EATHSE<1E > 485 A B | 9,482] 4,974] 5,571 4,817] 5,440 797 30,659
EITHFRH<1E 2 FE T & 1.0440] 0.8041] 0.8975| 1.1625| 0.8639| 0.7528|] 0.9589
1075522 AR RE<LE 2 FE T A8 71 35 59 38 36 7 244
ENTIER<1AE > 48m A H# | 9,609] 5,034] 5,569 5,011] 5,365 917| 31,193
BTG R<1AE 2 JET % 0.7388] 0.6952] 1.0594] 0.7583] 0.6710] 0.7633] 0.7822
10745532 A IS RE<1E 2 ZE T A8 90 40 52 50 47 9 287
EITIRR <14 > 455 A HE | 9,576] 5,018 5,488 4,927] 5,408 941 31,091
BT RH<1E 2 ZE T & 0.9398] 0.7971] 0.9475] 1.0148] 0.8690] 0.9564] 0.9230
10745547 LENTIERI<UEZFET AEL 83 36 37 39 59 5 258
BRI <1E > 48 A B | 9,711] 4,902 5,614 4,946] 5,425 982| 31,289
BTG R<1AE 2 JET % 0.8547] 0.7343] 0.6590] 0.7885] 1.0875] 0.5091] 0.8245
1074F BRI <1 2 ZE 0 AL 405 172 233 210 209 31l 1,230
EATHRRH <145 > 455k A B8 | 38,378] 19,928| 22,242| 19,701| 21,638| 3,637| 124,232
BT RH<1E 2 ZE T & 1.0552] 0.8631| 1.0475| 1.0659] 0.9658] 0.8523] 0.9900
1084E 17 LEMNTIERI<1EZFET AE 69 49 60 47 38 13 275
B <1E > 48 A HE | 9,623] 4,804 5,700 4,842 5,269 1,021] 30,838
BT <LE 2 IET % 0.7170] 1.0199] 1.0526| 0.9706] 0.7211] 1.2732] 0.8917
1084EEE2 AR R<1EE 2 FE T A S 80 41 62 48 34 7 270
BT <14 > 455 A HE | 9,457 4,809 5,841 4,863 5,367 998| 31,018
BT <1 2 R R 0.8459] 0.8525| 1.0614] 0.9870] 0.6335] 0.7014] 0.8704
1084E 537 LEMTHELI<1EZ FE T AEL 64 41 45 48 43 10 247
BRI <1 48 A B | 9,116] 4,708 5,773 4,753 5,345 974] 30,372
BT <LE 2 JET % 0.7020] 0.8708] 0.7794] 1.0098] 0.8044] 1.0266] 0.8132
s
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gD w R EdT B RERF<lE2Z = F

HAR THE B2, | BIRERE | EERR | BREZE | £2F
1054F EMTHREI<LE SR T A B 122 337 335 515 1,148
AT <145 2 48 A H 8y 12,283 31,012 23,723 50,936] 115,128
BT R<UE 2 FE TR 0.9932 1.0866 1.4121 1.0110] 0.9971
1064F TR EI<UVEZIE T AL 138 371 350 544 1,209
BT <14E 2 485% A 8] 12,758 31,136 24,358 52,404] 117,769
BT <LE 2 R0 % 1.0816 1.1915 1.4368 1.0380] 1.0265
10745513 PEMTIRRI<1E 2 SE T AL 25 72 82 131 294
AT <145 2 485 A H 8y 3,165 8,017 6,327 14,039] 30,659
BT R<UE 2 FE TR 0.7898 0.8980 1.2960 0.9331] 0.9589
1074E5822F AT <14E 2 3R T A8 22 52 65 119 244
BRI R <145 2> 489% A H E 3,014 8,175 6,471 14,277 31,193
BT R<LE > RT3 0.7299 0.6360 1.0044 0.8335] 0.7822
1074E5532F BT <1E 23R T A8 15 82 77 127 287
BT <1452 485 A H 8y 2,869 7,953 6,466 14,445] 31,091
BT <UE > FET & 0.5228 1.0310 1.1908 0.8791] 0.9230
1074F 564 IEME R <UVEZIET A8 13 64 60 131 258
AT R <145 2> 489% A H E 2,839 7,811 6,577 14,727 31,289
BT R<LE > JET % 0.4579 0.8193 0.9122 0.8895] 0.8245
1074F BT EI<1AE 2 9T ABY 104 340 328 615 1,230
TS R < LA 2 485 A H 8y 11,887 31,956 25,841 57,488| 124,232
BT <UE > FET & 0.8749 1.0639 1.2693 1.0697] 0.9900
1084F 551 A <UE SR T A8 19 58 83 127 275
AT R <145 2> 489k A H 2,886 7,604 6,686 14,419] 30,838
BNTIRR<UVE 2 SET % 0.6583 0.7627 1.2413 0.8807| 0.8917
1084F5522 BT HEH<14E 23R T A8 13 60 89 124 270
BT <14E 2 485 A H 8¢ 2,811 7,709 6,927 14,254] 31,018
BATHRR<UE 2 FET % 0.4624 0.7783 1.2848 0.8699| 0.8704
1084F 553 [IEMTHE R <UE SR T A8 18 58 61 121 247
AT R <145 2 489k A H #; 2,632 7,635 6,696 14,000] 30,372
AR <LE 2 TR 0.6838 0.7596 0.9109 0.8642| 0.8132
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DS RS SRR <1EL 2

HAR s aakhall HH it | tE | HE | HE | 8F | XE | &8
1054 [E2Eh, RS R<1E 23R A8 54 3 34 11 15 5 122
AR R <14 > 48 A B | 5,064 633 2,844 978] 2,275 507] 12,283

B E<1E IR & 1.0663| 0.4739] 1.1954| 1.1247] 0.6593| 0.9861| 0.9932

Ik EE R AR <1E IR A8 93 55 62 57 49 26 337

ERrRs R <1 > g A B | 8,129] 5,476] 5,918] 5,978] 4,438] 1,142| 31,012

BT RE <1 2 FET % 1.1440] 1.0043| 1.0476] 0.9534] 1.1041] 2.2767| 1.0866

el G s AN 57 75 83 55 57 8 335

R R <14E > 4 A H# | 4,867] 6,183 5,580 2,831] 3,370 944] 23,723

B E<1E IR & 1.1711] 1.2130] 1.4874] 1.9427] 1.6913| 0.8474] 1.4121

HEREZE EmER<UE T A8 183 47 85 96 95 15 515

R <14 > 4 A B # | 17,270] 5,503 8,098] 9,863] 9,555 978| 50,936

BT RE <1 2 FET % 1.0596] 0.8540| 1.0496| 0.9733| 0.9942| 1.5337] 1.0110

1064F  |82E8 ), BENTHSR <12 FE T A8 67 2 28 7 28 6 138
ERTI R <14E > 4% A B8 | 5,577 728] 2,459 1,142] 2,389 469| 12,758

BRI <1E 2 IR TR 1.2013| 0.2747] 1.1386] 0.6129] 1.1720] 1.2793| 1.0816

Ik EE . AR <1E IR A8 80 76 85 80 42 10 371

ERriE R <1 > g A B | 8,480] 6,051 5,660] 5,632] 4,432 942] 31,136

BRI <1AE 2 JET % 0.9433| 1.2559] 1.5017] 1.4204] 0.9476] 1.0615| 1.1915

B AT R<UE R A8 69 83 91 37 61 10 350

ERT R <1E > dam A B# | 4,921] 6,171 5,935] 2,817] 3,851 718| 24,358

BT <1E 2 IR TR 1.4021] 1.3450| 1.5332| 1.3134] 1.5840| 1.3927| 1.4368

HEEZA EmER<1EET A8 206 52 96 100 94 7 544

ERTRE R <14E > g A B | 17,667] 6,145] 8,642 9,496] 9,836] 1,043| 52,404

BRI <1AE 2 JET % 1.1660] 0.8462| 1.1108] 1.0530] 0.9556] 0.6711] 1.0380

1074553 BB b0 | EMTHRRI<UE ST AL 8 0 2 1 3 1 15
ERT R <14E 2 4 A B # | 1,196 187 474 294 528 193] 2,869

BRI <1E 2 IR TR 0.6688] 0.0000] 0.4219] 0.3401]| 0.5681] 0.5181] 0.5228

Ik EE R AR <1 73R A8 19 11 14 19 15 4 82

ERTHE R <14E > s A H# | 2,050] 1,535] 1,407] 1,508] 1,206 255] 7,953

ERTIE R <1 2 IET %R 0.9268] 0.7166] 0.9950] 1.2599]| 1.2437| 1.5686| 1.0310

HE Bl BTSRRI <V 3R T A 18 17 15 13 11 3 77

ERT R <14 485 A B | 1,274] 1,735 1,456 701] 1,060 253] 6,466

BT E<1E 2 IR TR 1.4128] 0.9798| 1.0302| 1.8544] 1.0377| 1.1857] 1.1908

HEZE EmER<1EZET A8 48 12 22 23 19 3 127

EfTiE R <14E > s A B | 5,203] 1,621] 2,237] 2,483] 2,713 263| 14,445

ETIE R <1E 2 IET %R 0.9225] 0.7402| 0.9834] 0.9262| 0.7003| 1.1406| 0.8791

1074554 (B 58 b0 BT RI<UE ST AL 6 0 1 2 2 2 13
ERTE R <1 485 A B8 | 1,219 172 440 289 515 206] 2,839

BT E<1E 2 IR TR 0.4922] 0.0000] 0.2272] 0.6920] 0.3883] 0.9708] 0.4579

EIkEE [ AR <1 3R A8 16 10 10 10 18 0 64

ERTHE R <1E > s A B | 2,059] 1,461 1,406 1,461] 1,186 249] 7,811

BRI <VE 2 IET % 0.7770] 0.6844] 0.7112] 0.6844] 1.5177| 0.0000] 0.8193

HE Bl BT <UE 3R T A 10 11 10 11 15 3 60

ENT R <145 485 A B | 1,300] 1,738] 1,458 7471 1,102 254] 6,577

EMTIRE<1E 2 SRR 0.7692] 0.6329] 0.6858] 1.4725| 1.3611] 1.1811] 0.9122

HEZE EmER<1EZET A8 53 15 20 16 27 0 131

ERTE R <1 > 4 A B | 5,276] 1,593 2,413] 2,504] 2,722 309] 14,727

ENTE R <1E IR R 1.0045] 0.9416] 0.8288| 0.6389] 0.9919| 0.0000] 0.8895

1074 |B2EE), IS RE<LAE 2 R0 8% 53 1 20 8 14 8 104
AT R <1422 485 A B | 5,013 786] 1,929 1,203] 2,192 772| 11,887

BT E<1E 2 FE TR 1.0572] 0.1272] 1.0368] 0.6650] 0.6386] 1.0362] 0.8749

Ik EE . AR <1 PR A8 92 54 65 67 56 7 340

ERTiE R <14E > 4 A B | 8,340] 6,127] 5,714] 6,106] 4,700] 1,005] 31,956

BRI <UFE 2 IET % 1.1031] 0.8813| 1.1375| 1.0972| 1.1914] 0.6965| 1.0639




M Bl B <l SEL B 79 75 70 43 51 2] 328
BTG <1 45 A B | 5,116] 6,838] 5,976] 2,831] 4,209]  935| 25,841
BTG <L L L% 15441 1.0968] 1.1713| 1.5188| 1.2116] 1.2834| 1.2693
@2 B a<1E 2 ST B 231 5g|  111] 114] 106 o 615
BTG L <L 45 A 8 | 20,538] 6,432] 9,051] 9,816] 10,985] 1,063 57,488
BTG L < LA AL T % 1.1247] 0.9017] 1.2263| 1.1613| 0.9649] 0.8466] 1.0697
1084F 2512 (B2 BT AE<IEZSET AL 7 0 6 2 2 2 19
BTG <l @ A 8 | 1,234]  151]  448] 309] 561  184] 2,886
TG < LA AL % 0.5672] 0.0000] 1.3392] 0.6472] 0.3565] 1.0869] 0.6583
IR AT <1EZIE T AL 7 12 16 13 8 2 58
BTG <L g A B | 2,133] 1,389 1,434] 1,216] 1,196] 244] 7,604
BTG L < LA AL T % 0.3281] 0.8639] 1.1157] 1.0690] 0.6688] 0.8196] 0.7627
M Bl B <L SEC B 14 25 15 10 12 7 83
BTG <L 4 ) 8 | 1,807] 1,669] 1,467] 959] 1,022] 288] 6,686
BTG L <L L L% 1.0711] 1.4979] 1.0224] 1.0427| 1.1741| 2.4305] 1.2413
@2 B <l ST B 43 15 24 23 20 2| 127
BTG L<1EE . 455 A B | 5.105] 1,660] 2,468 2,417] 2,589] 335| 14,419
BTG L < LA AL T R 0.8423| 0.9036] 0.9724] 0.9515] 0.7724] 0.5970] 0.8807
10845522 (B2 BT E<IEZSET AL 5 0 4 1 2 1 13
BTG <L A A B | 1,002]  118] 356 322] 630]  184] 2,811
BN <L L L% 0.4159] 0.0000] 1.1235] 0.3105| 0.3174] 0.5434] 0.4624
IR BT <1EZIE T AL 14 12 19 7 5 3 60
BTG <1iE 4 A 8 | 2,201] 1,369 1,459 1,108] 1,056] 238] 7,709
BTG L < LA AL T R 0.6360] 0.8765] 1.3022] 0.5843| 0.3980] 1.2605| 0.7783
HEBERTE BT <UEZIET AL 19 16 23 14 15 3 89
BTG <L 4 A B | 1,333] 1,709] 1,560] 1,064] 993|285 6,927
BTG <L L L% 1.4253] 0.9362| 1.4743[ 1.3157| 1.5105| 1.0526] 1.2848
g2 hT BRI <UEZIET A 47 15 21 27 13 1 124
BTG <LE . 4 A a | 4.873] 1,679] 2,582 2,338] 2,582] 322 14,254
BTG L < LA ALT R 0.9644] 0.8933] 0.8133| 1.1548] 0.5034] 0.3105| 0.8699
10845537 (B 52th 0y BT RI<UE ST A S 6 0 2 3 4 3 18
BTG <L A A B | 1,094]  122|  306] 294] 672] 149] 2,632
BTG <L L L% 0.5484] 0.0000] 0.6535] 1.0204| 0.5952| 2.0134] 0.6838
IR AR <VEZIE T AR 14 13 12 7 8 4 58
BTG <L g A B | 2,147] 1,373| 1,428] 1,023] 1.232] 242| 7,635
B HTIG I <L LT R 0.6520] 0.9468| 0.8403| 0.5723| 0.6493| 1.6528| 0.7596
e BTG <1 ST B 11 13 12 13 11 1 61
BTG <L s ) 8 | 1,321] 1,624] 1,540] 996] 959 278] 6,696
BTG <L L L% 0.8327] 0.8004] 0.7792] 1.3052| 1.1470] 0.3597| 0.9109
TLB2TR B <l ST B 36 18 19 26 20 3 121
BTG <L g A B | 4,706] 1,629] 2,587] 2,277] 2,564] 333 14,000
BTG L <L AL L R 0.7649] 1.1049] 0.7344| 1.1418[ 0.7800] 0.9009| 0.8642
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FRIDS & ip i SRR ZIEL %

FAE] HH =it | Jt& TE | BE | 5F | ¥KE | £¥

1054F BT = 1225 A 1,929 1,065 1,314 1,274 1,312 193 6,907
EATIFE = 19 7 48 A H % | 196,606 106,304| 132,833] 118,798| 135,265| 18,157| 698,416
FEATHG R = 1 2 9T 2R 0.9811] 1.0018] 0.9892] 1.0724] 0.9699] 1.0629] 0.9889

1064E BN = 1 ST A B 2,077 1,086] 1437 1246 1377 214] 7,224
BRI = 145 27 4858 A H 85 | 205,127] 110,283| 137,500] 121,990] 137,183 19,058] 721,622
BITHE L = 1 E 2R TR 1.0125] 0.9847| 1.0450fF 1.0213] 1.0037] 1.1228] 1.0010

107 5EL1=E IEMRIFE = 12258 T A 506 281 366 323 357 41 1,856
FEATHF ] = 14E 27 4855 A H 85 52,456] 28,213| 34,896 31,137 34,671 4,872| 183,462
FEATHG R = 1V 2 9T 3R 0.9646] 0.9959] 1.0488] 1.0373] 1.0296] 0.8415] 1.0116

107527 BN = VEE 3R A 423 219 277 270 268 49 1,492
BRI = 14527 489 A H 85 53,025] 28,475] 35,057] 30,905 34,844 4,821] 184,810
BTG = 1E 2R R 0.7977] 0.7690] 0.7901] 0.8736] 0.7691] 1.0163] 0.8073

1074583 B I = 1E 2235 T A 440 246 255 248 256 45 1,472
ERTIFE = 19 7 48 A 3 8 53,382 28,672 35,173] 30,958] 34,845] 4,813] 185,723
BTG = 1V 2 IR TR 0.8242] 0.8579] 0.7249] 0.8010] 0.7346] 0.9349] 0.7925

107 AR IEMRIFE = 1FE 25T A A# 460 232 301 253 253 40 1,530
BRI = 14527 489 A H 85 53,736] 28,966] 35,404 31,131} 35,131} 4,795] 187,064
BATHE = 1E 2R TR 0.8560f 0.8009] 0.8501] 0.8126] 0.7201] 0.8342] 0.8179

1074 BT = 122 3R A 2,157 1,159 1,402 1,289 1,350 216 7,366
AT = 14E > 4B A H B | 212,599 114,326] 140,530] 124,131] 139,491 19,301] 741,059
G T e s O S 1.0145] 1.0137] 0.9976] 1.0384] 0.9678] 1.1191] 0.9939

108 FEZE1ZE IEMRIFE = 1FE 25T A A# 514 296 320 275 316 43 1,751
BRI = 14527 489 A H 85 54,586] 29,592 36,069 31,841 36,036] 5,033] 190,050
BEATHE = 1 2R TR 0.9416] 1.0002] 0.8871] 0.8636] 0.8769] 0.8543] 0.9213

1084E5E 2= B = 122 9E T A 494 252 325 268 275 48 1,644
FEATHE R = 14F 27 485 A H 85 55,176] 29,785| 36,120f 32,022] 36,042] 5,010] 191,694
HEMTHE R = 1 2 RT3 0.8953] 0.8460] 0.8997] 0.8369] 0.7629] 0.9580] 0.8576

108 FEEE3ZE |iEMIFE = 1 23R T A 467 246 315 254 293 51 1,616
AT = 14527 489 A H 85 55,299] 29,900F 36,093] 32,069] 35,957] 5,080] 192,129
BEATHE R = 1E 2R TR 0.8444| 0.8227] 0.8727] 0.7920] 0.8148] 1.0039] 0.8411
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SARHDS it SRR zlEL o F

HARS THE BEG | BB | WERE | BEZHE | 28

1054F BT = 12 SR T A8 675 1,796 1,666 3,456 6,907
BT = 14E 2> 480 A H &y 68,740 165,481 134,377 340,457 698,416
ETHER = E SR TR 0.9819 1.0853 1.2397 1.0151]  0.9889

1064E ETHER = 1EE 2 3R A8 693 1,808 1,791 3,654 7,224
BT = 1452 48 A H 8 71,050 168,007 138,079 355,232 721,622
BT = 1 SR T % 0.9753 1.0761 1.2970 1.0286] 1.0010

1074F 5178 iEMTHSRE = VE 2 36T A8 158 410 456 915 1,856
BT = 14E 2> 480 A H &y 18,259 42,506 35,182 90,555 183,462
BRI = L 2 ST % 0.8653 0.9645 1.2961 1.0104] 1.0116

107455527 [iEMTHE R = 1E 36T A8 128 358 335 718 1,492
BT = 1452 480 A 8 18,267 42,602 35,520 91,143 184,810
BT = 1 SR T % 0.7007 0.8403 0.9431 0.7877] 0.8073

1074E 55378 [iEMTHERE = VE 36T A8 133 308 361 721 1,472
BT = 14E 2> 48 A H &y 18,362 42,728 35,526 91,516 185,723
EHTHER = EE 2 SRR 0.7243 0.7208 1.0161 0.7878]  0.7925

107 554F AR = 14 236 T A 134 375 317 759 1,530
BT = 1452 480 A 8 18,500 43,066 35,690 92,240 187,064
BT = 1 SR T % 0.7243 0.8707 0.8882 0.8228] 0.8179

1074E BT = 12 SR T A8 739 1,834 1,763 3,753 7,366
AR = 142 48 A 8¢ 73,388 170,902 141,918 365,454] 741,059
ETHER = VEE 2 SR TR 1.0069 1.0731 1.2422 1.0269]  0.9939

1085517 [iEMTHER = 14E 2 36 T A8 148 380 440 835 1,751
BT = 1452 480 A H 8] 18,622 42,714 37,900 93,877| 190,050
BT = 1 SR T % 0.7947 0.8896 1.1609 0.8894]  0.9213

1084E 527 [iEMTHER = 1E 36T A8 138 342 422 802 1,644
BT = 1462 489% A H 8% 18,662 42,835 38,045 94,782| 191,694
BT = LEE SR T 0.7394 0.7984 1.1092 0.8461] 0.8576

1084F 5378 i MTHE i = VUE 2 3E T A8 136 390 372 777 1,616
ERTHE R = 14E 2> 485 A H 8 18,483 42,848 38,082 95,197] 192,129
BT = 1 SR T % 0.7358 0.9101 0.9768 0.8162] 0.8411
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Ap DS SR B AT BATER Z1E 2= ¥

HAE s aakhall HH gdt | Jt&E | & | HE | §F | & | &%
1054 |82, PSR = 1E2 2R T A8 269 52 146 44 120 45 675
AR = VE > s A HE | 25,738 6,518] 12,188] 5,820] 15,891 2,663] 68,740

EHHSR = VSR % 1.0451] 0.7977| 1.1978] 0.7560] 0.7551] 1.6898] 0.9819

IR ER b AR = 152 2 SE T A8 418 338 342 362 287 54 1,796
BEATIER = VE 2> 48 A H 8 | 43,889 27,629] 31,141 32,399] 26,525 4,192] 165,481

B = VE 3R % 0.9524] 1.2233] 1.0982] 1.1173| 1.0819] 1.2881] 1.0853

H R BER B ARER = V23R T A8 371 397 373 226 271 44] 1,666
EER = VE > 4 A 58 | 27,658] 36,300] 33,241] 15,331] 19,202] 3,158| 134,377

EHHER = VE 2 SR % 1.3413] 1.0936] 1.1221| 1.4741] 1.4113] 1.3932] 1.2397

HigZ it B = 15 27300 A 1,039 367 586 718 729 88| 3,456

BT = V2> 489 A F#; | 100,959 36,694] 57,374] 65,813| 74,765 8,525] 340,457

IEMTHEE] = V2 JET % 1.0291] 1.0001] 1.0213] 1.0909] 0.9750] 1.0322] 1.0151

1064F B2, B R = 146 2 38T A8 275 37 148 47 134 53 693
AR = VE > 4 A B8 | 26,999 6,471] 12,918] 6,041] 15,867] 2,831] 71,050

EHHER = VE 2 SR % 1.0185| 0.5717| 1.1456] 0.7780] 0.8445| 1.8721] 0.9753

IR ER b AR = 152 2 SR A8 470 315 340 361 274 54| 1,808
BEATIER = VE 2> 48 A H 8 | 44,809] 28,851 30,947| 32,929] 26,332] 4,432] 168,007

IEMTHSEE] = V2 JET % 1.0488] 1.0918] 1.0986] 1.0962] 1.0405] 1.2184] 1.0761

HrE g AR = 14 2 38T A8 378 420 451 242 273 50] 1,791

B = VE > 4m A 58 | 27,411 37,793] 34,746] 15,698] 19,366] 3,508] 138,079

EHTHER = VE 2 JE T % 1.3790| 1.1113| 1.2979] 1.5415| 1.4096] 1.4253] 1.2970

HigZ it EIER = 1 27300 A 1,116 399 636 683 799 101] 3,654

BT = V2> 4895 A H#; | 107,367| 38,092| 60,114] 67,984] 76,813] 8,656] 355,232

IEMTHEE] = V2 JET % 1.0394] 1.0474] 1.0579] 1.0046] 1.0401] 1.1668] 1.0286

1074553 [eas b, IBIER = 14 238 T A8 56 10 23 11 24 9 133
BRI = 14 2> 4895 A\ H 8 7,112 1,629] 3,323] 1,592 4,012 701] 18,362

EHHER = VE 2 JE T 0.7874] 0.6138] 0.6921] 0.6909] 0.5982| 1.2838] 0.7243

IR ER b AR = 156 2 SE T A8 86 52 60 53 49 8 308
BATIER = VE > 4 A B8 | 11,521 7,557] 7,730] 8,309] 6,563] 1,119] 42,728

BT = VUE 3R % 0.7464] 0.6881] 0.7761] 0.6378| 0.7466] 0.7149] 0.7208

HrE BRI B R] = 14F 2 36T A 95 107 59 42 42 16 361

BRI = 14 2> 4895 A\ H 8 7,108] 9,515] 8,932 4,123 5,060 897| 35,526

EHHER = VE SR 1.3365| 1.1245] 0.6605] 1.0186] 0.8300] 1.7837] 1.0161

Hg2 i B = 1 27360 A8 219 81 125 150 142 15 721
BATIRR = VE 2> 489 A H | 28,052] 10,181 15,469] 17,071 19,501] 2,163] 91,516

BT = VUE 3R % 0.7806] 0.7955| 0.8080] 0.8786] 0.7281] 0.6934] 0.7878

1074EEE4= (B2 ) AR = 1E 2238 T A8 72 8 29 7 11 7 134
BRI = 14 2> 4895 A\ H 8 7,163 1,645 3,318] 1,612 4,052 717 18,500

B = VUE SR % 1.0051] 0.4863| 0.8740] 0.4342] 0.2714] 0.9762] 0.7243

&I BN AR = 15 2 3E T A8 106 73 75 61 48 12 375
ETERE = VE > s A B | 11,544 7.670] 7,771] 8,428 6,590 1,137] 43,066

BTSN = VEE 2 SE T % 0.9182] 0.9517| 0.9651] 0.7237| 0.7283| 1.0554] 0.8707

HE BRI AR = 14F 27 36T A 61 77 78 41 50 10 317
BTSN = 14F 2> 4895 A H 7,073] 9,555] 8,968] 4,155 5,112 913 35,690

B = VUE SR % 0.8624] 0.8058] 0.8697] 0.9867] 0.9780] 1.0952] 0.8882

Higz2 i B = 15 2380 A 237 77 134 151 152 12 759
BATIER = VE 2> 489 A B8 | 28,309] 10,272] 15,664] 17,119] 19,691] 2,114] 92,240

BTSN = VE 2 SE T % 0.8371] 0.7496] 0.8554] 0.8820] 0.7719] 0.5676] 0.8228

1074 |B&E ) FEMIER = 122300 A8 339 53 145 50 101 53 739
ERRE = VUE > 4 A HE | 28,322 6,518] 13,334] 6,280] 16,044] 2,931] 73,388

B = VUE SR % 1.1969] 0.8131] 1.0874] 0.7961] 0.6295] 1.8082] 1.0069

&I BN AR = 142 2 SE T A8 474 326 334 342 297 70| 1,834




AR = 1 > 44 A B | 45,842] 30,165] 30,840] 33,419] 26,350] 4,579] 170,902
BTSN = VEE 2 SET % 1.0339] 1.0807| 1.0830] 1.0233| 1.1271] 1.5287] 1.0731
B AR = 14E 22 3R T A 374 442 401 227 259 68| 1,763
IEATIER = VE 2> 48 A B | 28,329] 38,087| 35,599 16,496] 20,165] 3,669] 141,918
BT = VRT3 1.3202| 1.1605| 1.1264] 1.3760] 1.2844] 1.8533| 1.2422
2 pr AR = VFE 2 3e T A B 1,155 427 662 755 777 80] 3,753
BTSN = VE 2> 4895 A F 8 | 111,624] 40,395] 61,968] 68,649] 78,152] 8,622] 365,454
BTSN = VEE 2 SET % 1.0347] 1.0570] 1.0682] 1.0997] 0.9942] 0.9278] 1.0269
1084517 (B2, LEMTIERL = LE 3R T A8 68 7 27 15 26 5 148
IEATIER = 14E 2> 489 A 5 7,186] 1,663] 3,293] 1,621 4,106 763 18,622
BRI = L 3R 0.9462] 0.4209] 0.8199] 0.9253| 0.6332] 0.6553] 0.7947
I ER [ A = 146 2 SR T A8 106 78 66 60 60 12 380
ERSRT = VE > 4 A B | 11,575 7,882] 7,900 7,630 6,654] 1,168] 42,714
BT = VEE 2 SET % 0.9157] 0.9895] 0.8354] 0.7863] 0.9017| 1.0273] 0.8896
HrEER e AR = 145 2 38T A 89 120 95 61 63 13 440
IEATIER = 14E 2> 489 A H 7,259] 9,837] 9,134] 5522 5,331 961] 37,900
BRI = VSR 1.2260| 1.2198] 1.0400] 1.1046] 1.1817| 1.3527] 1.1609
g2 pr AR = LE 36T A B 264 103 140 146 172 15 835
BEATIER = VE 2> 48 A H 8 | 28,967| 10,478| 15,995| 17,246] 20,263 2,233] 93,877
IEMTHEE] = V2 JET % 0.9113| 0.9830] 0.8752| 0.8465] 0.8488] 0.6717] 0.8894
1084552 (e, B ISR = 14 238 T A8 59 7 26 12 27 7 138
IEATIER = 14E 2> 489 A H 7,157 1,675 3,376] 1,612 4,075 774] 18,662
BRI = VSR 0.8243] 0.4179] 0.7701] 0.7444] 0.6625] 0.9043] 0.7394
I B [ A = 14E 2 ST A8 97 75 75 47 36 12 342
EHSRE = VE > 4 A B | 11,635 7,868] 7,878] 7,655 6,680] 1,188] 42,835
I G 0.8336] 0.9532] 0.9520] 0.6139] 0.5389] 1.0101] 0.7984
HrE gl AR = 145 2 38T A8 95 92 97 77 48 14 422
BT = 14E 2> 4895 A H 8 7,316] 9,851] 9,168] 5,504 5,355 956] 38,045
BRI = L 2 SR T % 1.2985] 0.9339] 1.0580] 1.3989] 0.8963| 1.4644] 1.1092
Hg2pr BRI = VE 22 3e T A8 260 85 135 139 171 19 802
BEATIER = VE 2> 48 A H 8 | 29,457] 10,590] 16,024] 17,440] 20,208] 2,172] 94,782
BN = VE 2 JE T % 0.8826] 0.8026] 0.8424| 0.7970] 0.8461| 0.8747] 0.8461
1084FE53% (B8 rf ), AR = LEE 23R T A8 58 13 26 7 25 8 136
BTSN = 14F 2> 4895 A\ H 7,137 1,655| 3,215] 1,598 4,064 822| 18,483
BRI = T 2 SR T % 0.8126] 0.7854] 0.8087] 0.4380] 0.6151] 0.9732] 0.7358
I ER [ AR = 14F 2 ST A8 102 61 72 61 79 15 390
BT = VE > 4mm A H 8 | 11,682 7,864 7,899 7,636] 6,651] 1,176] 42,848
IEMTHSE] = VE 2 JE T % 0.8731| 0.7756] 0.9115| 0.7988] 1.1877| 1.2755] 0.9101
= E& R AR = L 2 9E T A8 66 86 103 51 53 14 372
BTSN = 14E 2> 489 A\ H 8 7,238] 9,935] 9,152 5,424] 5,465 969] 38,082
BT = L 2 SR T % 0.9118] 0.8656| 1.1254] 0.9402] 0.9698| 1.4447] 0.9768
Higz2 i B = 15 2380 A 254 94 126 145 147 16 777
BEATIRR = VE 2> 4B A HE | 29,631] 10,667| 16,087| 17,574] 20,048] 2,202] 95,197
BT = E 2 JET 3R 0.8572] 0.8812] 0.7832] 0.8250] 0.7332| 0.7266] 0.8162
st
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ApRPDL amig A7 _F &R G -a 9 &9 (Albumin)

HAR HH =nin JtiE & BE =5 E 2F
1054 B AT 28 20 27 19 16 4 114
Albumin-f b2 99.03%| 99.89%] 99.35%| 99.25%] 98.83%| 97.78%] 99.17%
Albumin(BCG) 5z 23 18 18 19 16 4 98
Albumin(BCG) F-H5{H 3.7036] 3.7989] 3.7062| 3.7244] 3.7342] 3.7448] 3.7277
Albumin(BCG) =357 F4yEE | 85.14%] 90.88%| 87.74%] 88.48%| 88.00%| 89.39%| 87.55%
Albumin(BCP)ZZ 8 6 2 9 0 0 0 17
Albumin-3F-#4{g (BCP) 3.2310]  3.2196] 3.2217]  0.0000] 0.0000] 0.0000] 3.2267
Albumin(BCP)=3.07 5557k | 86.93%] 83.33%| 90.88%]  0.00%|  0.00%|  0.00%| 88.41%
1064 e Ffr 28 21 29 19 17 4 118
Albumin-f b2 98.98%| 99.23%] 99.07%| 98.59%] 98.69%| 99.33%] 98.94%
Albumin(BCG) 5z 23 19 20 19 17 4 102
Albumin(BCG) V- {H 3.7322] 3.8049] 3.7111] 3.7005] 3.7053] 3.7419] 3.7279
Albumin(BCG) =357 F45yEE | 86.69%] 89.03%| 88.13%] 87.05%| 88.20%| 90.54%| 87.75%
Albumin(BCP) % 8 7 2 9 0 0 0 18
Albumin-3£#5{E (BCP) 3.2938] 3.0938] 3.2787] 0.0000] 0.0000] 0.0000] 3.2810
Albumin(BCP)=3.07 F43kE | 89.07%|  75.00%] 92.11%|  0.00%]  0.00%]  0.00%| 89.91%
1074E5512F |Bpri 26 18 28 18 17 3 110
Albumin-fg e % 94.38%] 97.28%| 98.77%| 97.30%] 98.82%| 91.74%| 96.78%
Albumin(BCG) 5z 22 16 19 17 17 3 94
Albumin(BCG) F-#4{E 3.7918] 3.7900] 3.7338] 3.7256] 3.7376] 3.8099] 3.7604
Albumin(BCG) =357 F4yEE | 80.99%] 83.13%| 81.86%] 79.30%| 80.59%| 84.68%| 81.16%
Albumin(BCP) % 8 5 2 9 1 0 0 17
Albumin-3£#5{g (BCP) 3.1234]  3.1053] 3.2743] 3.2750] 0.0000] 0.0000] 3.2011
Albumin(BCP)=3.07 F43kk | 74.30%|  76.47%| 81.71%| 80.00%|  0.00%]  0.00%| 78.08%
107455528 [P 27 20 28 18 16 3 112
Albumin-fg e Hh% 98.93%| 99.75%] 98.86%| 96.88%] 98.54%| 97.52%| 98.62%
Albumin(BCG) 5z 22 18 19 17 16 3 95
Albumin(BCG) F-H{H 3.7494]  3.7901] 3.7303] 3.7341] 3.7168] 3.7689] 3.7435
Albumin(BCG)=3.57 7 5rtE | 77.00%| 80.87%| 80.56%| 79.16%| 78.28%| 79.66%| 78.81%
Albumin(BCP)Zz 8] 5 2 9 1 0 0 17
Albumin-}-+5{§ (BCP) 3.3159] 3.1165] 3.2818] 3.0300] 0.0000] 0.0000] 3.2768
Albumin(BCP)>3.0 i543kE | 79.31%|  70.59%] 84.27%| 65.00%]  0.00%]  0.00%| 80.17%
1074E5532F | pri 28 18 29 18 16 3 112
Albumin-fg s - 99.11%| 98.44%] 98.89%| 97.63%] 98.70%| 96.75%] 98.64%
Albumin(BCG)ZZ 8 23 17 22 17 16 3 98
Albumin(BCG) 515 3.7299] 3.7751] 3.6878] 3.7043] 3.7013] 3.8126] 3.7206
Albumin(BCG)=3.57 7 5rtL | 78.05%| 82.96%| 77.50%| 78.98%| 78.13%| 86.55%| 78.96%
Albumin(BCP)Zz 8] 5 1 7 1 0 0 14
Albumin-}+5{§ (BCP) 3.3485] 2.9857] 3.2270] 3.1286] 0.0000] 0.0000] 3.2778
Albumin(BCP) >3.07 Fi43kk | 80.43%| 57.14%] 81.06%| 76.19%| 0.00%]  0.00%| 80.07%
1074E554F b Pri 26 19 29 19 16 3 112
Albumin-fg % 97.52%| 99.62%] 99.05%| 98.61%] 98.97%| 96.85%] 98.50%
Albumin(BCG)%: 22 18 20 18 16 3 97
Albumin(BCG)-F+5{H 3.7808] 3.8398] 3.7418] 3.7534] 3.7652] 3.8016] 3.7751
Albumin(BCG) =35 F457Eb | 81.77%| 84.44%| 80.80%| 81.23%| 82.45%] 84.55%| 82.07%
Albumin(BCP)Zz & 4 1 9 1 0 0 15
Albumin-}+5{§ (BCP) 3.1699] 3.0714] 3.2524] 3.1512] 0.0000] 0.0000] 3.2070
Albumin(BCP) >3.0 Fi43kE | 74.09%|  57.14%] 80.88%| 78.05%|  0.00%]  0.00%| 77.46%
1074F B Fr 30 20 29 19 17 3 118
Albumin-fg % 98.87%| 99.34%] 98.99%| 98.58%] 98.87%| 97.96%] 98.90%
Albumin(BCG)%: 26 19 22 18 17 3 105
Albumin(BCG) F-H{H 3.7498] 3.7834] 3.7073] 3.7220] 3.7156] 3.7825] 3.7363
Albumin(BCG)=3.5 757tk | 87.50%| 88.37%| 87.63%| 88.40%| 89.72%| 91.67%| 88.31%
Albumin(BCP)Zz & 6 2 9 1 0 0 18
Albumin-}-+5{§ (BCP) 3.2115] 3.0644] 3.2407] 3.1436] 0.0000] 0.0000] 3.2168
Albumin(BCP)=3.07 i543EE | 87.39%| 84.21%| 89.83%| 86.00%|  0.00%|  0.00%| 88.22%




10851 [FrArE 28 18 29 19 15 3 112
Albumin-fa £ LK 98.84%| 97.48%| 98.99%| 98.71%| 95.75%| 97.60%| 98.13%
Albumin(BCG) 57 24 17 20 18 15 3 97
Albumin(BCG)-F-41H 3.7741] 3.8030] 3.7549] 3.7149] 3.7732] 3.8311] 3.7664
Albumin(BCG) =35 F45rtb | 80.12%| 84.37%] 80.12%| 79.91%| 84.04%] 90.16%| 81.59%
Albumin(BCP) %7 4 1 9 1 0 0 15
Albumin-3F-#4/{g (BCP) 3.1840] 3.4000] 3.2216] 3.1400] 0.0000] 0.0000] 3.1994
Albumin(BCP) =3.07 Fi43kE | 76.96%| 100.00%] 75.50%| 75.00%|  0.00%]  0.00%| 76.13%

108522 |brhrE 28 20 28 19 16 3 114
Albumin-fa £ LK 90.03%| 99.75%| 97.35%| 98.45%| 97.94%| 98.26%| 95.49%
Albumin(BCG) 57 24 19 19 18 16 3 99
Albumin(BCG)-F-41H 3.7722] 3.8146] 3.7270] 3.7443] 3.7595] 3.8442] 3.7647
Albumin(BCG) =35 F45rEb | 81.90%| 84.27%|  79.64%| 80.73%| 82.11%] 91.15%| 81.88%
Albumin(BCP) %7 4 1 9 1 0 0 15
Albumin-3F-#4{g (BCP) 3.1181] 3.2600] 3.2443] 3.0881] 0.0000] 0.0000] 3.1784
Albumin(BCP)=3.0" E43kE | 72.02%|  80.00%] 78.09%| 78.57%|  0.00%]  0.00%| 75.58%

1085532 [IFnE 28 20 29 19 16 3 115
Albumin-f & HE% 97.93%| 99.75%| 97.23%| 98.78%| 98.77%| 99.12%| 98.30%
Albumin(BCG)Z # 24 19 21 18 16 3 101
Albumin(BCG)F51H 3.7665] 3.7722] 3.6840] 3.7174] 3.7303] 3.7920] 3.7372
Albumin(BCG) =355 4yEE | 80.55%| 81.54%| 76.06%| 80.78%| 81.64%] 90.27%| 80.19%
Albumin(BCP)Z & 4 1 8 1 0 0 14
Albumin-F-14{g (BCP) 3.1584] 3.2800] 3.1760] 3.0841] 0.0000] 0.0000] 3.1549
Albumin(BCP)=3.0" 43k | 79.53%|  80.00%| 68.29%| 72.73%|  0.00%]  0.00%| 76.01%

st
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Fp1RPD1 g 47 & w9 39 (Albumin)

HAR HHE B | EEREEk | tEREE | EEP2F e
1054F Bre P 19 69 17 9 114
Albumin-tgE LA 99.28% 98.92% 100.00% 100.00% 99.17%
Albumin(BCG)Zz 8] 18 60 11 9 98
Albumin(BCG)F-+9{H 3.7297 3.7188 3.8072 3.7939 3.7277
Albumin(BCG) =35 H4rtb 86.44% 88.69% 89.24% 98.11% 87.55%
Albumin(BCP) 5 % 1 10 6 0 17
Albumin-3Z35{g (BCP) 3.2539 3.2570 2.9605 0.0000 3.2267
Albumin(BCP)=3.07 H4rth 93.16% 88.57% 73.02% 0.00% 88.41%
1064F Bre AT 19 69 20 10 118
Albumin-#g L2 99.27% 98.55% 97.45% 98.67% 98.94%
Albumin(BCG)Z% 18 60 14 10 102
Albumin(BCG)F+9{H 3.7154 3.7410 3.8005 3.7628 3.7279
Albumin(BCG)=3.5" FH 47tk 87.31% 87.85% 89.16% 97.30% 87.75%
Albumin(BCP) 5 % 1 11 6 0 18
Albumin-F-#5{g (BCP) 3.2836 3.3028 3.1295 0.0000 3.2810
Albumin(BCP)=>3.0 H47th 92.27% 89.69% 84.13% 0.00% 89.91%
107 F 512 |G 19 63 19 9 110
Albumin-f & EE=R 98.88% 94.35% 91.63% 100.00% 96.78%
Albumin(BCG) 58 18 54 13 9 94
Albumin(BCG)F+9{H 3.7650 3.7506 3.7949 3.7750 3.7604
Albumin(BCG)=3.5" FH47kL 81.15% 80.55% 87.84% 85.94% 81.16%
Albumin(BCP) 5 % 1 10 6 0 17
Albumin-F-#4{g (BCP) 3.2989 3.1607 3.1450 0.0000 3.2011
Albumin(BCP)=>3.07 H47th 82.74% 76.23% 75.00% 0.00% 78.08%
1075522 | 19 66 18 9 112
Albumin-f & EE=R 99.17% 97.96% 97.40% 100.00% 98.62%
Albumin(BCG)Z % 18 56 12 9 95
Albumin(BCG):9{H 3.7427 3.7456 3.7325 3.7397 3.7435
Albumin(BCG)=3.57 H 3L 77.68% 80.28% 78.79% 85.71% 78.81%
Albumin(BCP)Z # 1 10 6 0 17
Albumin-F-#4{E (BCP) 3.3155 3.2844 3.1215 0.0000 3.2768
Albumin(BCP)=3.07 H47th 87.50% 77.66% 75.00% 0.00% 80.17%
1074E 3% |befiL 19 67 18 8 112
Albumin-f & EE=R 99.08% 98.37% 97.95% 88.33% 98.64%
Albumin(BCG)Z % 18 59 13 8 98
Albumin(BCG):5{H 3.7153 3.7328 3.6434 3.8189 3.7206
Albumin(BCG)=3.57 H 3L 77.79% 81.03% 71.81% 90.57% 78.96%
Albumin(BCP)Z # 1 8 5 0 14
Albumin-F-#4{E (BCP) 3.2606 3.3155 3.0871 0.0000 3.2778
Albumin(BCP)=>3.07 H4rLb 84.12% 79.46% 70.59% 0.00% 80.07%
107 E 542 |befi 19 66 18 9 112
Albumin-faE B 98.78% 98.08% 98.45% 100.00% 98.50%
Albumin(BCG) 528 18 58 12 9 97
Albumin(BCG)t5{H 3.7709 3.7845 3.7360 3.7867 3.7751
Albumin(BCG)=3.57 H %[k 81.45% 83.18% 79.27% 83.33% 82.07%
Albumin(BCP) 5 # 1 8 6 0 15
Albumin-F-#4{E (BCP) 3.2841 3.1833 3.1036 0.0000 3.2070
Albumin(BCP)=>3.0” H4rLb 85.29% 75.00% 67.21% 0.00% 77.46%
1074 P P 19 68 22 9 118




Albumin-f&# EE2 99.05% 98.68% 98.68% 100.00%| 98.90%
Albumin(BCG) 5 & 18 61 17 9 105
Albumin(BCG)F:5{H 3.7371 3.7380 3.6945 3.7672 3.7363
Albumin(BCG)=3.5 " H %L 88.69% 88.33% 79.58% 94.37%| 88.31%
Albumin(BCP)Zz 84 1 11 6 0 18
Albumin-F-$5{E (BCP) 3.2729 3.2121 3.0722 0.0000 3.2168
Albumin(BCP)>3.07 H4rtb 91.67% 87.78% 80.60% 0.00% 88.22%

108F5E1ZE | 19 65 19 9 112
Albumin-fgE B 99.17% 97.37% 92.68% 100.00% 98.13%
Albumin(BCG) 75 & 18 57 13 9 97
Albumin(BCG):5{H 3.7631 3.7778 3.6841 3.8500 3.7664
Albumin(BCG)=3.5 " H %[k 80.93% 82.87% 75.44% 94.64%| 81.59%
Albumin(BCP)Zz 84 1 8 6 0 15
Albumin-F-$5{E (BCP) 3.2462 3.1960 3.0889 0.0000 3.1994
Albumin(BCP)=3.07 H 77tk 78.70% 76.73% 66.67% 0.00%| 76.13%

108522 |FFrik 19 65 21 9 114
Albumin-fa# EE2 94.03% 97.78% 91.85% 100.00%| 95.49%
Albumin(BCG) 5 8y 18 57 15 9 99
Albumin(BCG)F#41{H 3.7646 3.7718 3.6873 3.8127 3.7647
Albumin(BCG)=3.57 H47kE 81.15% 83.10% 77.43% 90.91%| 81.88%
Albumin(BCP)Zx ¥ 1 8 6 0 15
Albumin-F-#5{E (BCP) 3.2970 3.1463 3.0203 0.0000 3.1784
Albumin(BCP)=3.07 H 77tk 84.34% 73.85% 61.19% 0.00%| 75.58%

108F5E3= |FFrik 19 66 21 9 115
Albumin-fg# EE2 98.71% 98.80% 90.21% 100.00%| 98.30%
Albumin(BCG) 5 &y 19 58 15 9 101
Albumin(BCG)F#4{H 3.7380 3.7456 3.6465 3.7418 3.7372
Albumin(BCG)=3.57 H 47tk 79.80% 81.55% 71.73% 85.45%| 80.19%
Albumin(BCP)Zz ) 0 8 6 0 14
Albumin-F-35{E (BCP) 0.0000 3.1785 3.0566 0.0000 3.1549
Albumin(BCP)=3.07 77tk 0.00% 79.57% 61.19% 0.00%| 76.01%
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$EPD3 ST Rt & -Hb

FAR HE =nir in &R A & =13 E 2F
1054 EGR 28 17 26 19 16 3 109
Hb-Fa & L 99.08%] 99.80%| 99.57%| 99.23%| 98.46%| 93.88%| 99.10%
Hb-FH5 {5 10.3067] 10.3908] 9.9425] 10.2151] 10.2170]  9.9874] 10.2181
Hb>8.50/dL 1125 EL | 97.22%|  97.77%| 95.96%| 97.48%| 97.44%| 97.83%| 97.14%
106%F EGR 27 19 27 18 17 4 112
Hb-Fa & L 99.03%] 99.27%| 99.03%| 98.51%| 98.50%| 100.00%| 98.93%
Hb-FH5 {5 10.3028] 10.3286] 10.0547] 10.0748] 10.1527] 10.3785] 10.2002
Hb>8.50/dL 1175 EL | 96.75%|  97.99%| 97.63%| 96.03%| 96.67%| 94.23%| 97.03%
107612 (e 25 16 26 16 16 3 102
Hb-Fa & L 93.62%] 97.06%| 98.53%| 97.44%| 98.87%| 86.67%| 96.46%
Hb-FH5 {5 10.3503] 10.2914] 9.9663| 10.0274] 10.1194] 10.3128] 10.1779
Hb>8.50/dL 1175 EL | 90.81%|  90.93%| 87.04%| 89.50%| 89.90%| 97.44%| 89.83%
10775627 |efre 26 18 26 15 16 3 104
Hb-F & L 99.35%] 99.80%| 98.70%| 96.70%| 98.56%| 95.74%| 98.72%
Hb-FH5 {5 10.4982] 10.4558] 10.2058] 10.1586] 10.2684] 10.2652] 10.3439
Hb>8.50/dL i 75 EL | 91.99%|  91.31%| 90.95%| 89.34%| 88.65%| 95.56%| 90.75%
1077553 % | 27 17 28 15 16 3 106
Hb-F & L 99.17%| 98.36%| 98.89%| 98.17%| 98.72%| 94.00%| 98.69%
Hb-FH5 (g 10.5076] 10.5756| 10.1205| 10.1048] 10.2254] 10.2298] 10.3303
Hb>8.50/dL i1 75 EL | 91.74%|  92.28%| 88.89%| 90.04%| 91.25%| 91.49%| 90.94%
107542 (e 25 17 28 16 16 3 105
Hb-F & L 97.14%| 99.79%| 98.86%| 98.57%| 98.56%| 94.64%| 98.27%
Hb-FH5 {5 10.4308] 10.4671] 10.0685| 10.1517| 10.1766] 10.1019] 10.2754
Hb>8.50/dL 125 EL | 91.07%|  90.57%| 89.27%| 89.00%| 89.45%| 92.45%| 90.08%
1074 B 29 18 27 16 16 3 109
Hb-F & L 98.82%] 99.47%| 98.84%| 97.30%| 98.61%| 96.30%| 98.63%
Hb—FH5 {H 10.3953] 10.4352] 10.0388] 10.0987| 10.1436] 10.2489] 10.2344
Hb>8.50/dL 1175 EL | 96.82%|  97.17%| 96.21%| 97.04%| 97.32%| 98.08%| 96.96%
10812 |frik 27 15 27 16 14 3 102
Hb-F 5 s 98.67%| 97.55%| 98.60%| 98.98%| 95.520] 95.31%| 97.90%
Hb—FH5 {H 10.3671] 10.2677] 10.0505| 10.0495] 10.1218] 10.0607] 10.1984
Hb>8.50/dL 1175 EL | 90.53%|  88.26%| 88.21%| 87.78%| 86.43%| 90.16%| 88.64%
T08TE 522 |efek 26 17 26 18 16 3 106
Hb-F 5 s 88.67%| 99.50%| 97.220%| 98.50%| 98.40%| 96.43%| 95.08%
Hb—FH5 {H 10.4603] 10.3404] 10.1108| 10.2913] 10.3502] 10.2926] 10.3276
Hb>8.50/dL 1175 EL | 92.63%|  80.75%| 88.41%| 90.65%| 91.53%| 87.04%| 90.81%
1087537 (e 26 17 27 18 16 3 107
Hb-F 5 s 97.92%| 99.60%| 97.66%| 98.93%| 98.21%| 98.25%| 98.32%
Hb—FH5 {H 10.5340] 10.3888] 10.1223] 10.2058] 10.3588] 10.2911] 10.3534
Hb>8.50/dL 1175 EL | 92.00%|  89.84%| 88.04%| 90.48%| 93.22%| 91.07%| 91.22%
s
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$EPD3 S Bt &b

HARS HE BB &I BT P S HEZF 2E

1054F BEpETEL 19 66 16 8 109
Hb-fg & bER 99.03% 99.12% 100.00% 100.00%]  99.10%
Hb- 5 {H 10.1921 10.2535 10.3785 9.6934] 10.2181
Hb>8.5g/dL " 7 47EE 96.84% 97.55% 96.23% 96.15%|  97.14%

1064F BepTEL 19 66 17 10 112
Hb-f& s FE& 99.24% 98.51% 97.52% 98.18%|  98.93%
Hb- 15 {8 10.1735 10.2398 10.3156 9.9357]  10.2002
Hb>8.5g/dL " 7 47EE 96.97% 96.91% 97.46% 94.44%|  97.03%

107451 AT 19 60 15 8 102
Hb-fg d&r bER 98.72% 93.65% 89.00% 100.00%]  96.46%
Hb-F 5 {5 10.2157 10.1279 10.4584 9.3250] 10.1779
Hb>8.5g/dL > 7 47 EL 89.94% 90.08% 89.89% 77.50%|  89.83%

107527 |RprE 19 62 15 8 104
Hb-fg & FER 99.16% 98.15% 97.37% 100.00%]|  98.72%
Hb-F 5 {E 10.3611 10.3190 10.3694 10.2528]  10.3439
Hb>8.5g/dL " 7 47EE 91.19% 90.28% 90.09% 86.11%|  90.75%

1074E53%F  |RprE 19 63 17 7 106
Hb-fg & FER 98.96% 98.69% 99.15% 82.35%|  98.69%
Hb-F 5 {5 10.3522 10.3067 10.3034 10.0321]  10.3303
Hb>8.5g/dL " 7 47 EL 90.68% 91.64% 87.93% 89.29%|  90.94%

107547 |RprE 19 62 16 8 105
Hb-fg & FER 98.53% 97.83% 98.36% 100.00%]|  98.27%
Hb-F 5 {5 10.2737 10.2903 10.2600 0.8290] 10.2754
Hb>8.5g/dL" &4 EE 89.65% 90.73% 89.17% 93.55%|  90.08%

1074 BT 19 64 18 8 109
Hb-fg & FER 98.87% 98.20% 99.29% 100.00%]|  98.63%
Hb-F5 {8 10.2597 10.2086 10.2388 0.8469]  10.2344
Hb>8.5g/dL" 7 47 EL 96.83% 97.06% 96.40% 95.45%|  96.96%

108FEF1E  |RArE 19 61 15 7 102
Hb-fg & FER 98.96% 97.19% 90.57% 100.00%]|  97.90%
Hb-F5 {8 10.2507 10.1102 10.2340 10.4500]  10.1984
Hb>8.5g/dL" 7 47 EL 89.20% 87.66% 89.58% 90.63%|  88.64%

10852 |RfrE 19 63 17 7 106
Hb-fg & FER 92.96% 98.10% 94.58% 100.00%]|  95.08%
Hb-F5 {8 10.3535 10.3067 10.2050 10.3258]  10.3276
Hb>8.5g/dL" 7 47 EL 91.76% 89.63% 89.17% 93.55%|  90.81%

108FE53%E  |RArE 19 64 17 7 107
Hb-fg & FER 98.50% 98.84% 92.35% 100.00%]|  98.32%
Hb-F5 {8 10.4296 10.2797 10.0432 10.5382] 10.3534
Hb>8.5g/dL” 7 4 EE 92.08% 90.93% 83.43% 94.12%|  91.22%
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(3)>8.5g/dL7 43 Eb=43 B A HI B Ho>8.5e/d L A /M@ MERE R A A3 A K HD A B - $5E4RSE © B 1 1967 ~ £ 1 1997 -

 TISMEBENTRA ) EFE ¢ Al HIeET - GEENR0E A RmPT2EN R ZRA -
RPEER IEAERE A LB R 2 e 8 s I B MR I (it s 1)




FARIEFEE R 1 0255015 - BV MUREATHeE AR
48U HHH: 108/12/26
SEURBAL ¢ FAEAEL P R R E



pPDS WA _SEPRER<1E2Z 2 K

HARS HE gt | & | +&E | HE | 8% | & | £F
1054F BT EI<LE 2 R0 A8 29 6 12 11 8 1 66
EATEE<LE > 24 A Her | 4,858] 1,681 2,711 1,975 2,456 296 13,977
B L<LE LR 0.5969] 0.3569] 0.4426] 0.5569] 0.3257| 0.3378] 0.4722
1064E BHTHE <1 > JEL B 24 8 17 8 11 1 69
BT R<LE> 4% A F8r | 4,284] 1,937 2,780 1,733 2,352 313| 13,398
TS <LAE 7 JE LR 0.5602] 0.4130] 0.6115] 0.4616| 0.4676] 0.3194] 0.5150
1074EEE1Z BT <UE 26T AL 5 2 3 1 0 0 11
BHTHS <A %8s A H & | 1,046 500] 863] 408 546 69| 3,432
B LI<LE SRR 0.4780] 0.4000] 0.3476] 0.2450[ 0.0000] 0.0000] 0.3205
10745522 iEf iR R <1 2 9E T A 0 2 2 1 0 0 5
FEMTSRE<VE > Zm A HEr | 1,046] 461 873 410 492 65| 3,347
BRI <14E > SRR 0.0000] 0.4338] 0.2290] 0.2439] 0.0000] 0.0000] 0.1493
10745532 BT E<UE 2SR T A 9 2 3 2 1 0 17
EMTIS R <UE> ZuE A BE | 1,107 431 890 387 449 62| 3,326
ISR <VE Y IR R 0.8130] 0.4640] 0.3370] 0.5167] 0.2227] 0.0000] 0.5111
1074E5HAZ BT E<UVE Z 38T AL 6 3 2 0 1 0 12
FEISRE<VE SE A 38 | 1,112 413 855  425] 486 70| 3,361
BRI <14 SR 0.5395] 0.7263] 0.2339] 0.0000] 0.2057] 0.0000] 0.3570
1074¢ BT <1E 2R T AEY 24 13 11 5 2 1 56
EMTHS R <1FE > 2 A B | 4,311] 1,805] 3481 1,630 1,973 266 13,466
FEMISRE<VE Y IR R 0.5567] 0.7202] 0.3160] 0.3067] 0.1013] 0.3759] 0.4158
1084EE1ZE BRI <1EZFET AE 6 2 1 0 1 1 11
BT <UE > fom A FHEe [ 1,115] 422 814]  432] 475 70| 3,328
BNTIEE<14E > R 0.5381] 0.4739] 0.1228] 0.0000] 0.2105] 1.4285] 0.3305
10845527 BT EI<UE 2SR T AE 2 6 7 0 2 0 17
EMTIS I <UE Zum A F 8 | 1,149 415 757 393 518 59| 3,291
ENTHSIH<LIE 2 IEL % 0.1740] 1.4457] 0.9247] 0.0000] 0.3861] 0.0000] 0.5165
1084F553Z [ EMTHFEI<UEZIE T AEL 8 1 6 1 2 1 19
EATHEEI<UE > Zm A FEr [ 1,128] 437 693 395 506 63| 3,221
BNTIEE<14E 7 R0 % 0.7092] 0.2288] 0.8658] 0.2531] 0.3952| 1.5873| 0.5898
fHsx -
LRI © (A B RAA TRE R T 5 - J5EE4RSE 1 2 1451 ~ 4F ¢ 1452
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FIRPDS ST _S AR <lE2 - %
FAE HH B2 | EEEEk | hERk | el | 28
1054 BTG E<LiE - SEL Y 26 39 1 0 66
BT EI<L4E. 485 N B 7,099 6,313 554 11| 13,977
T 0.3662]  0.6177]  0.1805]  0.0000] 0.4722
1064F BT <L SEC 8] 22 42 5 1 69
BT e < LAF - 455 A B 7,304 5,483 561 52| 13,398
NI <L JEL % 0.3012]  0.7660]  0.8912]  1.9230] 0.5150
10745612 [EMTI < UE ZIE T AL 3 7 1 0 11
TS Bl <LAE > 28\ B 1,825 1,369 202 16| 3,432
T 0.1643]  05113]  0.4504]  0.0000] 0.3205
10755228 M REI<UE 2 IE T AL 0 2 3 0 5
eI 1,718 1,394 222 13] 3,347
BN <L SEL % 0.0000] _ 0.1434]  1.3513] _ 0.0000] 0.1493
10753 |EMFHE<UEZIET AR 8 8 1 0 17
T e <LAF 405 & B 1,697 1,369 243 17| 3,326
BT E< L SLT R 0.4714]  05843]  0.4115]  0.0000] 0.5111
107 4% | Bhis <l ST A8 3 6 2 1 12
N 1,704 1,420 219 18] 3,361
BN <L SEL % 0.1760]  0.4225]  0.9132]  5.5555| 0.3570
1074 BT <L SEL Y 18 27 9 2 56
T e <LAE 485 ) B 6,044 5552 906 64] 13,466
BT E< L LT R 0.2592]  0.4863]  0.9933]  3.1250] 0.4158
108551 AT E<UE ZIE T AL 3 8 0 0 11
N 1,614 1,422 282 10] 3,328
BT EI<LAE. SLL R 0.1858]  0.5625]  0.0000] _ 0.0000] 0.3305
1085522 | Bhid<lE 2 Fir B 4 10 3 0 17
BTG <LAF 4805 ) B 1,578 1,302 311 0] 3,291
BTG E< L JLT R 0.2534]  0.7183] _ 0.9646] _ 0.0000] 0.5165
108535 | Bhide<lid - JL T A8 8 10 1 0 19
N 1,561 1,327 326 8| 3,221
BTG L <L~ SEL % 05124]  0.7535]  0.3067] _ 0.0000] 0.5898
sk -
LR © (R B RHA TR T 245 - J5HR4RSR 0 1451 ~ 4R 1 1452

2EREE - PTREATCEF I R05) ~ RERTE

A

BT <VESETER= CEHEARENT N EZIETEZEED X 100,/ CEHEHAREN /IR 1 Z 888 A H %0
o RV RSNG| DRSTAEYN. (&
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IAEPDS WA SR <lEL < F

HAR kbl HH &t | & | HE | BE | 8F | & | £8
A EEEM R N 13 0 8 3 1 1 26
B <L 45 ) 8 | 2.632]  743| 1573| 663 1,324]  164| 7,099

BTG E<LAF . SE L 22 0.4939] 0.0000] 0.5085] 0.4524] 0.0755] 0.6097| 0.3662

EIEE LT AT RI<1E 2SR T AL 15 6 4 8 7 0 39
BTG L <LiE 4 A B | 2,070]  721]  o16] 1,312] 1,062] 132| 6,313

BTG LI<LAE > SE L 0.6912] 0.8321] 0.4366] 0.6097| 0.6591] 0.0000] 0.6177

Ml BT AT <UE 2 SE T A S 1 0 0 0 0 0 1

T L < LAE 4895 A B 56| 212 217 0 69 o 554

BTG E<LAF . SE L2 1.7857] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.1805

g2 P BN <1E 2B T AR 0 0 0 0 0 0 0
TR <14F 7 48\ H L 0 5 5 0 1 0 11

BTG LI<LAE > SE L% 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000

1064F  |BErh 0 ENTHS R <1 2B T ASL 8 1 S 1 6 1 22
B <LiF > 45 ) 8 | 2,453]  830] 1,817] 674 1,329] 201| 7,304

BTG LI<LAE - L L% 0.3261] 0.1204] 0.2751] 0.1483| 0.4514] 0.4975| 0.3012

I BT ENTHR <1 2SR T AL 16 S 9 7 S 0 42

BTG L<LiE 48 A B | 1,807]  821] 755 1,050] 929 112| 5,483

BTG LI<LeE. AL R 0.8854] 0.6090] 1.1920] 0.6610] 0.5382] 0.0000] 0.7660

MBS AT R <1 2 SE T AL 0 2 3 0 0 0 S
TR LI <LAE . 495 A B 24| 287 167 0 83 o 561

BTG LI<LAE - L L 0.0000] 0.6968| 1.7964] 0.0000] 0.0000] 0.0000] 0.8912

g2 P BN <1E 2B T AR 0 0 1 0 0 0 1
TR <A 2 88955 A H 81 0 0 41 0 11 0 52

TG LI<LE. AL R 0.0000] 0.0000] 2.4390] 0.0000] 0.0000] 0.0000] 1.9230

10745533 |B8 22y BT EI<UAE 2 SE T A8 S 1 2 0 0 0 8
BTG L<LAE > 2y A B | 570]  160]  557]  132] 235 34| 1,607

BTG L <LAF - L L 0.8771] 0.5917] 0.3590] 0.0000] 0.0000] 0.0000] 0.4714

I BT AT <1 2R T AL 4 1 0 2 1 0 8
BTG <LAE . 45 A B | 524]  104]  176]  255] 192 28] 1,369

BTG LI<LAE > L L% 0.7633| 0.5154] 0.0000] 0.7843] 0.5208] 0.0000] 0.5843

MBS BT R <1 2 SE T AL 0 0 1 0 0 0 1
AT L <LAF 4895 A B 13 62| 146 0 22 o 243

BTG L <LAF - L L 0.0000] 0.0000] 0.6849] 0.0000] 0.0000] 0.0000] 0.4115

HJEG2 P BN <1E 2 SE T AR 0 0 0 0 0 0 0

A BT < LA 7 285 A H L 0 6 11 0 0 0 17

BTG LI<LAE > L L% 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000

10745542 BB EMT I RI<UE 2SR T A 1 0 1 0 1 0 3
BTG L<LiE 2855 A 8 | 587]  166]  516]  139] 250 46] 1,704

BTG L <LAF - L L 0.1703| 0.0000] 0.1937] 0.0000] 0.4000] 0.0000] 0.1760

I BT ENTH <1 23R T AL 5 1 0 0 0 0 6

BTG <LAF 48 A B | 500]  104]  188]  286] 219 24| 1,420

BTG LI<LAE > L L% 0.9823| 0.5154] 0.0000] 0.0000] 0.0000] 0.0000] 0.4225

MBS BT R <1 2 SE T AL 0 2 0 0 0 0 2
AT L <LAF > 455 A B 16 47 139 0 17 o 219

BTG L <LAF - L L 0.0000] 4.2553] 0.0000] 0.0000] 0.0000] 0.0000] 0.9132

g2 BT RE<UEZIET AL 0 0 1 0 0 0 1
TR <14 2 8895 A\ H 81 0 6 12 0 0 0 18

BTG LI<LAE > L L% 0.0000] 0.0000] 8.3333] 0.0000] 0.0000] 0.0000] 5.5555

1074 B2 BN <UEZSE T ASL 9 2 5 1 1 0 18
B <Li > 4 ) 8y | 2,313]  701] 2,199 538 1,032] 161] 6,044

BTG L <LAF - L LR 0.3891] 0.2853| 0.2273] 0.1858| 0.0968] 0.0000] 0.2592

I BT AT <L 2R T AL 15 5 1 4 1 1 27

BTG L<LE . 4 A B | L,060] 24| 720] 1,092] 851  105] 5,552




BEMTIFE<IFE 2 IE TR 0.7653] 0.6067] 0.1388] 0.3663] 0.1175] 0.9523] 0.4863

M e [P <1~ JLC 0 5 2 0 0 0 9
FEMTHF <1427 4895 A H 84 38 262 516 0 90 0 906

BTG R<1E 2 R TR 0.0000] 1.9083] 0.7751] 0.0000] 0.0000] 0.0000F 0.9933

WD | BRI SEC 0 1 1 0 0 0 2
TSR <1452 489 A B #% 0 18 46 0 0 0 64
EMTIFEI<1IFEZIET =R 0.0000] 5.5555] 2.1739] 0.0000] 0.0000] 0.0000F 3.1250

TOBFF 21 B 0 | BB <L e L 1 0 0 0 1 1 3
FEMTHF <1427 4895 A H 84 601 155 451 151 214 4?21 1,614

BTG R<1E 2 R TR 0.1663] 0.0000] 0.0000] 0.0000] 0.4672] 2.3809] 0.1858

ERE b BRI SEC 5 2 1 0 0 0 8
TSR <1852 489 A B #% 487 209 183 278 237 28] 1,422
EMTIFE<1IEZIET =R 1.0266] 0.9569] 0.5464] 0.0000] 0.0000] 0.0000] 0.5625

M [P <L~ JLC 0 0 0 0 0 0 0
FEMTHF <1427 489% A 84 27 55 174 3 23 0 282
IEMTIFE]<IE 2 IR TR 0.0000] 0.0000] 0.0000] 0.0000f 0.0000] 0.0000; 0.0000

ERD | BRI SEC 0 0 0 0 0 0 0
BRI 0 3 5 0 1 o 10

BT R<1E 2 FE TR 0.0000] 0.0000] 0.0000] 0.0000F 0.0000] 0.0000y 0.0000

0B/ 2527 |BE b 0, | BB <L L L 2 0 1 0 1 0 Z
BRI R <145 27 48y A F 85 610 145 391 128 264 401 1,578
IEMTIFE]<IE 2 IR TR 0.3278] 0.0000] 0.2557] 0.0000] 0.3787] 0.0000] 0.2534

ERea b B E<LE L 0 6 3 0 1 o 10
BT R <18E 2 485 A B #% 504 214 160 262 233 191 1,392

BT R<14E 2 SR TR 0.0000] 2.8037] 1.8750] 0.0000] 0.4291] 0.0000} 0.7183

M e [ <1 SLL 0 0 3 0 0 0 3
BRI R <145 7 48y A B 85 35 54 200 3 19 0 311

IEMTIFE] <1 Z IR TR 0.0000] 0.0000] 1.5000] 0.0000] 0.0000] 0.0000) 0.9646

ERD | BRI SEC 0 0 0 0 0 0 0
BT B <L B N B 0 2 6 0 2 o 10

BT R<14E 2 SR TR 0.0000] 0.00007 0.0000] 0.0000F 0.0000] 0.00007 0.0000
CHEERES) FEEaN PR R S R 1 0 7 0 2 1 5
BRI R <145 27 485 A H 85 645 137 346 132 256 45] 1,561
EMTIFE<IE 2 IR TR 0.1550] 0.0000] 1.1560] 0.0000] 0.7812] 2.2222] 0.5124

TR BRI SEC 7 1 1 1 0 o 10
BTG <LiE . 4 A8 | 449]  216]  148]  261] 235 18] 1,327

BTG R<14E 2 SR TR 1.5590] 0.4629] 0.6756] 0.3831] 0.0000] 0.0000} 0.7535

et i EI<LE L 0 0 1 0 0 0 1
BRI R <145 27 485 A F 85 34 78 197 2 15 0 326
EMTIFE<IFE 2 IR TR 0.0000] 0.0000] 0.5076] 0.0000] 0.0000] 0.0000} 0.3067

DT | B R~ SEC 0 0 0 0 0 0 0
BT <L~ B N B 0 6 2 0 0 0 8

BTG R <14 2 SR TR 0.0000] 0.0000] 0.0000] 0.00007 0.0000] 0.00007 0.0000
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1054F BT = 1E 22 3R A8 162 59 91 68 68 5 451
AR = 146 2 4898 A H 8% 21,868 17,8771 12,161 9,832 11,463 1,170] 64,371
FEATHS R = 1 2 FE T2 0.7408] 0.7490] 0.7482] 0.6916] 0.5932| 0.4273] 0.7006

1064E EMISR = 149 2 9E T A8 167 53 80 75 85 13 472
BT = LiF 2 48j% N F gy | 21,997] 7,753 12,024] 10,059 11,682 1,224] 64,738
EMTISR = 145 2 R T 0.7591] 0.6836] 0.6653] 0.7456] 0.7276] 1.0620] 0.7290

1074E5E1=E VAR = 122350 A8 27 11 19 21 12 1 91
BT R = 145 2 4858 A H 5,438 1,941) 2981 2,475] 2,900 308] 16,043
FEATHS R = 1 2 FE T2 0.4965] 0.5667] 0.6373] 0.8484] 0.4137| 0.3246] 0.5672

1075E52% B RE = LE 3 E 0 A 27 11 11 8 10 2 69
IEMTIFE = 145 2 489 A H 5 5,434 2,019 3,012 2,485 2,929 318] 16,196
EMTISR = 145 2 9E T 0.4968] 0.5448] 0.3652] 0.3219] 0.3414] 0.6289] 0.4260

1075E53F [ ENIEN = 1= 2300 A8 24 8 17 11 17 0 77
BT = L 2 4k A8 | 5,330] 1,995] 3,077 2,500 2,914 324] 16,140
EFTHRE] = VE 2 R T 3% 0.4502] 0.4010] 0.5524] 0.4400] 0.5833] 0.0000] 0.4770

10745542 PEMIFR = 1 2950 A8 23 8 13 13 8 3 67
IEMTIFE = 145 27 489 A H 5 5,345 2,020 3,137 2,496 2,851 335] 16,184
EMISR = 145 2 3R T 0.4303] 0.3960] 0.4144) 0.5208] 0.2806] 0.8955] 0.4139

1074 BT = 1E 22 3R A8 139 55 77 63 78 6 415
FAIG G = 14F > 489 A 8 | 21,547 7,975 12,207] 9,956] 11,594] 1,285 64,563
TR = VE 2 RT3 0.6451] 0.6896] 0.6307| 0.6327] 0.6727| 0.4669] 0.6427

108FEFE1E [EMNIERE = 1E R0 A 29 7 14 21 17 2 90
IEMTIFE = 145 2 489 A H 5 5,386 2,066 3,220 2,468 2,865 324] 16,329
BT = 1E 2R TR 0.5384] 0.3388] 0.4347] 0.8508] 0.5933] 0.6172] 0.5511

108EF 2= [ENIFL = 1E 2300 A8 32 7 14 15 16 4 88
BT = i 2 48 A8 | 5,373] 2,090] 3,285 2,438] 2,821 324] 16,331
A FTHE ] = 14 2 SR T K 0.5955] 0.3349] 0.4261)] 0.6152] 0.5671] 1.2345] 0.5388

108 EE3ZE AT = 1 235 T A A# 33 11 16 10 15 1 86
BRI = 145 2 489 A H 85 5,348 2,050 3,344 2,398 2,796 304] 16,240
BT = 1 2T 0.6170] 0.5365] 0.4784] 0.4170] 0.5364] 0.3289] 0.5295
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1054E BT = VE 2 9B T A B 216 218 18 2 451
BT = L 2 45 A\ H 8 35,262 26,771 1,752 586] 64,371
BT = L R T % 0.6125 0.8143 1.0273 0.3412] 0.7006

1064F TR = LE 2SR T AB 216 236 20 4 472
BT = 182 489% A F 8% 35,366 26,820 1,882 670] 64,738
EHTHEL = LE 23L& 0.6107 0.8799 1.0626 0.5970] 0.7290

1074E55 12 AR = VE 23R T A8 43 44 1 3 91
AT = V2 4895 A\ HE 8,797 6,564 492 190| 16,043
BT = L R T % 0.4888 0.6703 0.2032 1.5789] 0.5672

1074E5822R [iEATISE = 4E 2 5B T A8 31 35 2 1 69
EATHER = 182 489% A H 8% 8,876 6,606 532 183] 16,196
BT = 1E SRR 0.3492 0.5298 0.3759 0.5464] 0.4260

10745633 AN = 1 25 T A 27 44 5 1 77
BRI = 1452 489 A H 8% 8,877 6,540 553 170] 16,140
ETHER = L RT3 0.3041 0.6727 0.9041 0.5882] 0.4770

1074542 EMTIR R = 196 238 T A 28 37 2 1 67
BT = 12 489% A H 8% 8,848 6,563 610 163] 16,184
BT = 1E SR TR 0.3164 0.5637 0.3278 0.6134] 0.4139

1074F IEMTIGRE] = V22 SE T AH 179 219 13 6 415
BRI = 1452 489 A H 8% 35,398 26,273 2,187 706] 64,563
ERTHER = L RT3 0.5056 0.8335 0.5944 0.8498] 0.6427

108412 AT = 15 236 T A 30 52 7 1 90
BT = 182 489% A H 8% 8,957 6,495 712 165] 16,329
ENTHER = 13T % 0.3349 0.8006 0.9831 0.6060] 0.5511

1084F 5523 AT = 142 29 T- AL 45 40 3 0 88
BT = 1462 489% A H 8% 8,915 6,524 735 157] 16,331
BT = LEE SR T 0.5047 0.6131 0.4081 0.0000] 0.5388

1084532 AT = 1 236 T- A 39 41 6 0 86
ERTHE R = 14E 2> 4805 A H 8 8,850 6,483 749 158] 16,240
BT = 1E RT3 0.4406 0.6324 0.8010 0.0000] 0.5295
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ptRPDS A SR Z1E 25 F

HART R &I THE it | tE | HE | HE | &F | HE | £8
1054 |B&E2dup, [EMHSR = 1E IR0 A8 87 22 51 22 32 2l 216
EMTSR = 1 g A B | 13,070 3,743| 7,283] 4,012 6,559  595| 35,262
BRI = 14E 2 FET % 0.6656] 0.5877] 0.7002] 0.5483| 0.4878| 0.3361] 0.6125
IR el EfhER = 1 3T A 74 28 36 46 32 3] 218
MR = 148 2 4805% A\ B 8% 8,620 3,338] 4,063 5,717] 4,459  574] 26,771
BN = L 2 SR T % 0.8584] 0.8388] 0.8860] 0.8046] 0.7176] 0.5226] 0.8143
Bl ETREE = VE 2 IE T AR 2 8 3 0 5 0 18
MR = 145 2 485 A\ B 8% 178] 649 517 of 408 o] 1,752
NI = 14 7 FE TR 1.1235] 1.2326] 0.5802] 0.0000] 1.2254] 0.0000] 1.0273
B2t BN = 1 25T A 0 1 1 0 0 0 2
FENTHE R = 145 2 4805 A\ B 8% 0 147 298 103 37 1] 586
BN = L 2 SE T % 0.0000] 0.6802] 0.3355] 0.0000] 0.0000] 0.0000] 0.3412
1064E  [B&E2dhpy, [EMHSR = 1E IR0 A 81 16 40 31 41 71 216
EER = 14 > 4 A BEg | 13,101] 3,605 7,335] 4,098] 6570]  657| 35,366
BN = L 2 SR T % 0.6182] 0.4438] 0.5453| 0.7564] 0.6240] 1.0654] 0.6107
EIREE N AR = 1E IR A B 86 28 33 44 39 6] 236
R = 145 48 A H 85 8,726] 3,398] 3,631 5,889] 4,610 567| 26,820
BN = L 2 SR T % 0.9855] 0.8240] 0.9088| 0.7471] 0.8459] 1.0582] 0.8799
BT ETREE = VUE 2SR T AE 0 8 7 0 5 0 20
TR = 148 4805 A\ B 8% 170] 622 621 of 469 o] 1,882
BN = L 2 SR T % 0.0000] 1.2861] 1.1272] 0.0000] 1.0660] 0.0000] 1.0626
FiE2pr EEiE = VE e T AE 0 1 3 0 0 0 4
TR = 148 4805 A\ B 8% 0 128] 437 72 33 of 670
BN = L 2 SR T % 0.0000] 0.7812] 0.6864] 0.0000] 0.0000] 0.0000] 0.5970
1074E5532F (B E2rh BN = VE 2SR T A8 11 0 4 2 10 0 27
FERTIERE = 145 48 A H 85 3,161] 914] 1,932 1,033 1,644 193] 8,877
BN = L 2 SR % 0.3479] 0.0000] 0.2070] 0.1936] 0.6082] 0.0000] 0.3041
B AR = 1 2SR T AL 13 5 10 9 7 0 44
EHTHS I = 1452 489k A B 5 2,114]  860] 852 1,455 1,128 131] 6,540
BRI = VE 2 3R 0.6149] 0.5813] 1.1737] 0.6185] 0.6205] 0.0000] 0.6727
HlEEEpe BT = 1E 2SR T A B 0 2 3 0 0 0 5
EHTHS I = 145 489k A B 5 55 192 173 0 133 o] 553
BRI = VE 2 3R 0.0000] 1.0416] 1.7341] 0.0000] 0.0000] 0.0000] 0.9041
FiE2hr ErEE = VE 2 SE T AH 0 1 0 0 0 0 1
EHTHRI = 1452 489k A B 5 0 29 120 12 9 0 170
BRI = V2 SR % 0.0000] 3.4482] 0.0000] 0.0000] 0.0000] 0.0000] 0.5882
1074F5E4Z (B2, ETEE = VE 2 IE T AE 9 0 8 4 5 2 28
EHTHR I = 145 489k A B 5 3,158] 905] 1,957] 1,036] 1,501] 201] 8,848
BRI = VE 2 SR % 0.2849] 0.0000] 0.4087] 0.3861] 0.3142] 0.9950] 0.3164
B BT = 1 2SR T AL 14 5 5 9 3 1 37
BT = 145> &85 A B 8 2,130 881] 855 1,448] 1,115 134] 6,563
EHTHRR = LE SRR 0.6572] 0.5675] 0.5847] 0.6215] 0.2690] 0.7462] 0.5637
@B AT = 1E 2SR T AL 0 2 0 0 0 0 2
EHTHS I = 145 489k A B #5 571  209] 208 0 136 of 610
BT = VEE 2 R R 0.0000] 0.9569] 0.0000] 0.0000] 0.0000] 0.0000] 0.3278
FiE2hr BrhE = UE 2 SE T AE 0 1 0 0 0 0 1
EHTHS I = 145 489k A B #5 0 25 117 12 9 0 163
BT = VEE 2 R R 0.0000] 4.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.6134
1074 |BREE,, [AMISE = 1 SR A8k 66 16 39 15 39 al 179
BN = 1 g A g | 12,753] 3,668 7,601] 4,001] 6,532]  753] 35,398
EHTHRR = LE SRR 0.5175] 0.4362] 0.5130] 0.3666] 0.5970] 0.5312] 0.5056
EkEE AR = 1E 3R A 72 28 31 48 39 2l 219
EHTHS I = 145 4% A B 5 8,579 3,434] 3,405 5,814] 4509 532 26,273
EHTHRR = 1E IR LR 0.8392] 0.8153] 0.9104] 0.8255| 0.8649] 0.3759] 0.8335
B 2B = 1 23R T A8 1 8 4 0 0 0 13




BTG ] = 1EE. 4R A B 215] 759 702 o] 511 o] 2,187
BTG ] = 1A LT R 0.4651] 1.0540] 0.5698] 0.0000] 0.0000] 0.0000] 0.5944

g2 S = E BT A 0 3 3 0 0 0 6
BTG ] = 1EE. 4R A B o 114] 499 51 42 o] 706

BTG ] = 1A LT R 0.0000] 2.6315] 0.6012] 0.0000] 0.0000] 0.0000] 0.8498
1084E551F (B 820 BT R = VE 2 SR T A8 14 2 3 S 6 0 30
AT ] = 1EE. 4R A B 3,158]  927] 2,024] 1,039] 1,604] 205] 8,957

BTG ] = 1A LT R 0.4433] 0.2157] 0.1482] 0.4812] 0.3740] 0.0000] 0.3349

EIEERr AT = LE BT A 14 S 6 15 10 2 52
BTG ] = 1EE. 4R A B 2,170]  895] 854] 1339 1,118] 119] 6,495

BTG ] = 1A LT R 0.6451] 0.5586] 0.7025] 1.1202] 0.8944] 1.6806] 0.8006

HlEEEpr AT = LE 2B T A 1 0 4 1 1 0 7
BTG ] = 1EE. 4R A B 58] 214] 225 78] 137 o 712

BTG ] = 1A LT R 1.7241] 0.0000] 1.7777] 1.2820] 0.7299] 0.0000] 0.9831

g2 ST = E BT A 0 0 1 0 0 0 1
I ] = 1EE. 4R A B 0 30| 117 12 6 o] 165

BTG ] = 1A LT R 0.0000] 0.0000] 0.8547] 0.0000] 0.0000] 0.0000] 0.6060
1085522 (B8 Hhy AT HE = 1 23R T A8 16 3 7 8 8 3 45
BTG ] = 1EE. 48 A B 3,125]  925] 2,073] 1,028] 1569] 195 8,915

BTG ] = 1A LT R 0.5120] 0.3243] 0.3376] 0.7782] 0.5098] 1.5384] 0.5047

SRSl AT = VE 2 SR T A 16 4 6 7 6 1 40
BTG ] = 1EE. 48 A B 2,188] 904] 867] 1.326] 1,110] 129] 6,524

BTG ] = 1A LT R 0.7312] 0.4424] 0.6920] 0.5279] 0.5405] 0.7751] 0.6131

B ST = 1E 2SR T A B 0 0 1 0 2 0 3
BTG ] = 1EE. 48 A B 60] 230] 234 75| 136 o] 735

BTG ] = 1A LT R 0.0000] 0.0000] 0.4273] 0.0000] 1.4705] 0.0000] 0.4081

g2 Bk = E IR T A B 0 0 0 0 0 0 0
I ] = 1EE. 48 A B 0 3 111 9 6 o 157

BTG ] = 1A LT R 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000
1085532 (BB Hy AT = LFEZSET A 16 3 10 4 5 1 39
TG ] = 1EE. 48 A B 3,100] 892| 2,111] 1,008] 1,553] 177] 8,850

BTG ] = 1A LT R 0.5146| 0.3363] 0.4737] 0.3968| 0.3219] 0.5649] 0.4406

ESREEhe AT = VE 2SR A 17 5 4 6 9 0 41
TG ] = 12E. 48 A B 2.177] 898|  866] 1,309] 1,106] 127] 6,483

BTG ] = 1A LT R 0.7808| 0.5567] 0.4618] 0.4583| 0.8137] 0.0000] 0.6324

HilmEEpe S = 1 2 SE T A B 0 3 2 0 1 0 6
TG ] = 12E. 48 A B 62] 230] 254 72| 131 o 749

BTG ] = 1A LT R 0.0000| 1.3043] 0.7874] 0.0000] 0.7633] 0.0000] 0.8010

g2 B = E 2 SE T AB 0 0 0 0 0 0 0
TG ] = 1EE. 48 A B 0 30 113 9 6 o 158

BTG ] = 1A LT R 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000
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